

2025 – 2026 Tuition and Course Fee Schedule

					Tuition^					Cours	e Fees
Course Code	Course Title	Bill Hrs.	District Resident (\$120)	In-State (\$240)	Out-of- State (\$360)	Int'l Student (\$420)	Senior Citizen (\$60)*	Registration Fee^ (Per semester, not course)	Student Support^ (Bill hrs x \$15)	Refundable	Non- Refundable
ACAD 100	First-Year Experience	1	\$120	\$240	\$360	\$420	\$60	\$25	\$15		
ACCG 101	Accounting Info for Management	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45		
ACCG 160	Payroll Systems and Taxes	2	\$240	\$480	\$720	\$840	\$120	\$25	\$30		
ACCG 161	Accounting with Quickbooks	2	\$240	\$480	\$720	\$840	\$120	\$25	\$30		
ACCG 210	Principles of Financial Accg	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60	\$112	\$0
ACCG 211	Principles of Managerial Accg	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60	\$92	\$0
ACCG 215	Financial Data Analytics	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60		
ACCG 220	Intermediate Accounting I	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60		
ACCG 221	Intermediate Accounting II	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60		
ACCG 230	Cost/Managerial I	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60		
ACCG 240	Federal Income Tax I	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60	\$65	\$0
ACCG 241	Federal Income Tax II	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60	\$65	\$0
ACCG 245	Accounting Internship	2	\$240	\$480	\$720	\$840	\$120	\$25	\$30		
ACCG 260	Accounting Systems	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60		
ACCG 271	Principles of Finance	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45		
ACCG 280	Governmental Accounting	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45		
ACCG 290	Auditing	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60		
AEET 275	Sustainable Building Design	6	\$720	\$1,440	\$2,160	\$2,520	\$360	\$25	\$90	\$145	\$0
AEET 280	Alternative Energy Practicum	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60		

^{*}Senior Citizen Tuition: MI residents living outside the LCC district qualify for a reduced rate of \$120 per billing hour. ^Refunds based on Teaching Period dates. Tuition and Fees are subject to change by action of the LCC Board of Trustees.



2025 – 2026 Tuition and Course Fee Schedule

					Tuition^					Cours	e Fees
Course Code	Course Title	Bill Hrs.	District Resident (\$120)	In-State (\$240)	Out-of- State (\$360)	Int'l Student (\$420)	Senior Citizen (\$60)*	Registration Fee^ (Per semester, not course)	Student Support^ (Bill hrs x \$15)	Refundable	Non- Refundable
AERO 110	USAF Heritage & Values I-Lab	2	\$240	\$480	\$720	\$840	\$120	\$25	\$30		
AERO 111	USAF Heritage & Values I	1	\$120	\$240	\$360	\$420	\$60	\$25	\$15		
AERO 112	USAF Heritage & Values II	1	\$120	\$240	\$360	\$420	\$60	\$25	\$15		
AERO 113	USAF Heritage & Values II-Lab	2	\$240	\$480	\$720	\$840	\$120	\$25	\$30		
AERO 210	USAF Team & Ldrshp Fund I-Lab	2	\$240	\$480	\$720	\$840	\$120	\$25	\$30		
AERO 211	USAF Team & Leadership Fund I	1	\$120	\$240	\$360	\$420	\$60	\$25	\$15		
AERO 212	USAF Team & Leadership Fund II	1	\$120	\$240	\$360	\$420	\$60	\$25	\$15		
AERO 213	USAF Team/Leadrshp Fund II-Lab	2	\$240	\$480	\$720	\$840	\$120	\$25	\$30		
ANTH 120	Introduction to Anthropology	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45		
ANTH 270	Cultural Anthropology	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45		
ANTH 271	Medical Anthropology	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45		
ANTH 272	Food and Sustainability	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45		
ANTH 275	Biological Anthropology	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60		
ANTH 276	Introduction to Archaeology	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45		
ANTH 280	Forensic Anthropology	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45		
ANTH 300	Applied Field Survey Methods	4 to 8	\$480-\$960	\$960-\$1,920	\$1,440-\$2,880	\$1,680-\$3,360	\$240-\$480	\$25	\$60-\$120		
APPR 170	Inside Wireman Apprentice 1-A	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60		
APPR 171	Inside Wireman Apprentice 1-B	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60		
APPR 172	Inside Wireman Apprentice 1-C	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60		

^{*}Senior Citizen Tuition: MI residents living outside the LCC district qualify for a reduced rate of \$120 per billing hour. ^Refunds based on Teaching Period dates. Tuition and Fees are subject to change by action of the LCC Board of Trustees.



2025 – 2026 Tuition and Course Fee Schedule

					Tuition^					Cours	e Fees
Course Code	Course Title	Bill Hrs.	District Resident (\$120)	In-State (\$240)	Out-of- State (\$360)	Int'l Student (\$420)	Senior Citizen (\$60)*	Registration Fee^ (Per semester, not course)	Student Support^ (Bill hrs x \$15)	Refundable	Non- Refundable
APPR 173	Inside Wireman Apprentice 2-A	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60		
APPR 174	Inside Wireman Apprentice 2-B	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60		
APPR 175	Inside Wireman Apprentice 2-C	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60		
APPR 176	Inside Wireman Apprentice 3-A	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60		
APPR 177	Inside Wireman Apprentice 3-B	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60		
APPR 178	Inside Wireman Apprentice 3-C	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60		
APPR 179	Inside Wireman Apprentice 4-A	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60		
APPR 180	Inside Wireman Apprentice 4-B	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60		
APPR 181	Inside Wireman Apprentice 4-C	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60		
APPR 182	Inside Wireman Apprentice 5-A	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60		
APPR 183	Inside Wireman Apprentice 5-B	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60		
APPR 184	Inside Wireman Apprentice 5-C	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60		
ARCH 105	Architecture Appreciation	2	\$240	\$480	\$720	\$840	\$120	\$25	\$30	\$85	\$0
ARCH 107	Sustainable Site Design	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60	\$75	\$0
ARCH 110	Visual Communications I	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60	\$70	\$0
ARCH 111	Arch Design Fundamentals	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60	\$95	\$0
ARCH 113	Materials & Methods of Constr.	6	\$720	\$1,440	\$2,160	\$2,520	\$360	\$25	\$90	\$158	\$0
ARCH 114	Architectural Drawing/CAD I	6	\$720	\$1,440	\$2,160	\$2,520	\$360	\$25	\$90	\$155	\$0
ARCH 118	Architecture Design/Planning	6	\$720	\$1,440	\$2,160	\$2,520	\$360	\$25	\$90	\$95	\$0

^{*}Senior Citizen Tuition: MI residents living outside the LCC district qualify for a reduced rate of \$120 per billing hour. ^Refunds based on Teaching Period dates. Tuition and Fees are subject to change by action of the LCC Board of Trustees.



2025 – 2026 Tuition and Course Fee Schedule

					Tuition^					Cours	se Fees
Course Code	Course Title	Bill Hrs.	District Resident (\$120)	In-State (\$240)	Out-of- State (\$360)	Int'l Student (\$420)	Senior Citizen (\$60)*	Registration Fee^ (Per semester, not course)	Student Support^ (Bill hrs x \$15)	Refundable	Non- Refundable
ARCH 120	Visual Communications II	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60	\$70	\$0
ARCH 124	Architectural Drawing/CAD II	6	\$720	\$1,440	\$2,160	\$2,520	\$360	\$25	\$90	\$155	\$0
ARCH 125	Environmental Systems	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60	\$50	\$0
ARCH 126	Architecture Model Building	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60	\$100	\$0
ARCH 141	History of Architecture I	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45	\$45	\$0
ARCH 142	History of Architecture II	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45	\$45	\$0
ARCH 146	Preservation/Adaptive Use Arch	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60	\$55	\$0
ARCH 218	Commercial Arch Planning	6	\$720	\$1,440	\$2,160	\$2,520	\$360	\$25	\$90	\$155	\$0
ARCH 220	Commercial Arch Drawing	6	\$720	\$1,440	\$2,160	\$2,520	\$360	\$25	\$90	\$165	\$0
ARCH 233	Revit Architecture BIM I	6	\$720	\$1,440	\$2,160	\$2,520	\$360	\$25	\$90	\$180	\$0
ARCH 235	Arch AutoCAD Independent Study	1 to 4	\$120-\$480	\$240-\$960	\$360-\$1,440	\$420-\$1,680	\$60-\$240	\$25	\$12-\$60		
ARCH 243	Revit Architecture BIM II	6	\$720	\$1,440	\$2,160	\$2,520	\$360	\$25	\$90	\$180	\$0
ARCH 275	Sustainable Building Design	6	\$720	\$1,440	\$2,160	\$2,520	\$360	\$25	\$90	\$135	\$0
ARCH 290	Architectural Internship	2 to 4	\$240-\$480	\$480-\$960	\$720-\$1,440	\$840-\$1,680	\$120-\$240	\$25	\$30-\$60		
ARCH 295	Arch Independent Study	1 to 4	\$120-\$480	\$240-\$960	\$360-\$1,440	\$420-\$1,680	\$60-\$240	\$25	\$12-\$60		
ARTH 120	Masterpieces of Art & Music	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60		
ARTH 211	Art History to the Renaissance	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60		
ARTH 212	Art Hist from the Renaissance	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60		
ARTH 216	Contemporary Art	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60		

^{*}Senior Citizen Tuition: MI residents living outside the LCC district qualify for a reduced rate of \$120 per billing hour. ^Refunds based on Teaching Period dates. Tuition and Fees are subject to change by action of the LCC Board of Trustees.



2025 – 2026 Tuition and Course Fee Schedule

					Tuition^					Cours	se Fees
Course Code	Course Title	Bill Hrs.	District Resident (\$120)	In-State (\$240)	Out-of- State (\$360)	Int'l Student (\$420)	Senior Citizen (\$60)*	Registration Fee^ (Per semester, not course)	Student Support^ (Bill hrs x \$15)	Refundable	Non- Refundable
ARTS 102	2D Design	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60	\$20	\$0
ARTS 103	3D Design	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60	\$35	\$0
ARTS 131	Drawing I	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60	\$8	\$0
ARTS 132	Figure Drawing	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60	\$53	\$0
ARTS 151	Color	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60	\$30	\$0
ARTS 153	Drawing II	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60	\$19	\$0
ARTS 162	Type Communications	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60	\$80	\$0
ARTS 164	Digital Illustration	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60	\$40	\$0
ARTS 171	Adobe Photoshop	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60	\$24	\$0
ARTS 173	Web Design I	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60	\$29	\$0
ARTS 175	Creative Design and Publishing	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60	\$79	\$0
ARTS 179	Web Design II	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60	\$35	\$0
ARTS 183	Design History	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45	\$30	\$0
ARTS 195	Employ/Busn Issues for Artists	1	\$120	\$240	\$360	\$420	\$60	\$25	\$15	\$3	\$0
ARTS 200	Painting I	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60	\$15	\$0
ARTS 201	Painting II	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60	\$15	\$0
ARTS 202	Design for Innovation	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60		
ARTS 226	Storyboards & Animatics	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60	\$30	\$0
ARTS 229	Web Design III	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60	\$40	\$0

^{*}Senior Citizen Tuition: MI residents living outside the LCC district qualify for a reduced rate of \$120 per billing hour. ^Refunds based on Teaching Period dates. Tuition and Fees are subject to change by action of the LCC Board of Trustees.



2025 – 2026 Tuition and Course Fee Schedule

					Tuition^					Cours	se Fees
Course Code	Course Title	Bill Hrs.	District Resident (\$120)	In-State (\$240)	Out-of- State (\$360)	Int'l Student (\$420)	Senior Citizen (\$60)*	Registration Fee^ (Per semester, not course)	Student Support^ (Bill hrs x \$15)	Refundable	Non- Refundable
ARTS 232	Comp Graphics/2D Animation	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60	\$40	\$0
ARTS 234	Comp Graphics/3D Animation I	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60	\$45	\$0
ARTS 235	Comp Graphics/3D Animation II	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60	\$45	\$0
ARTS 240	Art for Elementary Teachers	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60	\$30	\$0
ARTS 251	Graphic Design Communications	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60	\$60	\$0
ARTS 252	Graphic Design Publications	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60	\$60	\$0
ARTS 253	Graphic Design Branding	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60	\$60	\$0
ARTS 266	Figure Drawing II	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60	\$53	\$0
ARTS 267	Adv Drawing Digital Sketchbook	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60		
ARTS 269	The Portfolio	2	\$240	\$480	\$720	\$840	\$120	\$25	\$30	\$70	\$0
ARTS 281	Art Internship	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45		
ASTR 201	Introductory Astronomy	5	\$600	\$1,200	\$1,800	\$2,100	\$300	\$25	\$75	\$50	\$0
AUTM 102	Automotive/Collision Safety	1	\$120	\$240	\$360	\$420	\$60	\$25	\$15	\$110	\$20
AUTM 111	Automotive Electrical I	6	\$720	\$1,440	\$2,160	\$2,520	\$360	\$25	\$90	\$669	\$75
AUTM 113	Automotive Electrical II	6	\$720	\$1,440	\$2,160	\$2,520	\$360	\$25	\$90	\$659	\$50
AUTM 125	Manual Drive Train and Axles	6	\$720	\$1,440	\$2,160	\$2,520	\$360	\$25	\$90	\$694	\$50
AUTM 126	Automatic Transmissions	6	\$720	\$1,440	\$2,160	\$2,520	\$360	\$25	\$90	\$718	\$50
AUTM 131	Automotive Engine Repair	6	\$720	\$1,440	\$2,160	\$2,520	\$360	\$25	\$90	\$794	\$50
AUTM 141	Braking Systems and ABS	6	\$720	\$1,440	\$2,160	\$2,520	\$360	\$25	\$90	\$744	\$75

^{*}Senior Citizen Tuition: MI residents living outside the LCC district qualify for a reduced rate of \$120 per billing hour. ^Refunds based on Teaching Period dates. Tuition and Fees are subject to change by action of the LCC Board of Trustees.



2025 – 2026 Tuition and Course Fee Schedule

					Tuition^					Cours	se Fees
Course Code	Course Title	Bill Hrs.	District Resident (\$120)	In-State (\$240)	Out-of- State (\$360)	Int'l Student (\$420)	Senior Citizen (\$60)*	Registration Fee^ (Per semester, not course)	Student Support^ (Bill hrs x \$15)	Refundable	Non- Refundable
AUTM 151	Suspension and Steering	6	\$720	\$1,440	\$2,160	\$2,520	\$360	\$25	\$90	\$754	\$50
AUTM 161	Auto Heating/Air Conditioning	6	\$720	\$1,440	\$2,160	\$2,520	\$360	\$25	\$90	\$778	\$50
AUTM 180	Intro to Alternative Fuels	2	\$240	\$480	\$720	\$840	\$120	\$25	\$30		
AUTM 185	Automotive Special Topics	0.25 to 11	\$30-\$1,320	\$60-2,640	\$90-3,960	\$105-\$4,620	\$15-\$660	\$25	\$3.75-\$165		
AUTM 211	Automotive Electrical III	6	\$720	\$1,440	\$2,160	\$2,520	\$360	\$25	\$90	\$696	\$50
AUTM 225	Transmissions and Drivelines	6	\$720	\$1,440	\$2,160	\$2,520	\$360	\$25	\$90	\$0	\$777
AUTM 270	Gas Eng Drivability Diagnosis	6	\$720	\$1,440	\$2,160	\$2,520	\$360	\$25	\$90	\$738	\$50
AUTM 273	Lt. Diesel Drivability Diag.	6	\$720	\$1,440	\$2,160	\$2,520	\$360	\$25	\$90	\$760	\$50
AUTM 275	Ignition/Emission Sys Diag.	6	\$720	\$1,440	\$2,160	\$2,520	\$360	\$25	\$90	\$737	\$50
AUTM 280	Electric/Fuel Cell Technology	2.5	\$300	\$600	\$900	\$1,050	\$150	\$25	\$38	\$699	\$40
AUTM 282	Gaseous Fuels	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60	\$674	\$40
AUTM 284	Hybrid Systems & Maintenance	6	\$720	\$1,440	\$2,160	\$2,520	\$360	\$25	\$90	\$734	\$0
AUTM 286	High Voltage Battery Tech	6	\$720	\$1,440	\$2,160	\$2,520	\$360	\$25	\$90	\$764	\$0
AUTM 288	High Voltage Management	6	\$720	\$1,440	\$2,160	\$2,520	\$360	\$25	\$90	\$766	\$0
AUTM 290	Automotive Internship	1 to 4	\$120-\$480	\$240-\$960	\$360-\$1,440	\$420-\$1,680	\$60-\$240	\$25	\$15-\$60		
AUTM 296	Automotive Independent Study	1 to 4	\$120-\$480	\$240-\$960	\$360-\$1,440	\$420-\$1,680	\$60-\$240	\$25	\$15-\$60		
AUTM 298	Automotive Service Laboratory	4 to 9	\$480-\$1,080	\$960-\$2,160	\$1,440-\$3,240	\$1,680-\$3,780	\$240-540	\$25	\$60-135	\$280	\$0
AVAF 125	Aircraft Systems I	2.75	\$330	\$660	\$990	\$1,155	\$165	\$25	\$41	\$221	\$0
AVAF 126	Aircraft Systems II	8.25	\$990	\$1,980	\$2,970	\$3,465	\$495	\$25	\$124	\$391	\$0

^{*}Senior Citizen Tuition: MI residents living outside the LCC district qualify for a reduced rate of \$120 per billing hour. ^Refunds based on Teaching Period dates. Tuition and Fees are subject to change by action of the LCC Board of Trustees.



2025 – 2026 Tuition and Course Fee Schedule

					Tuition^					Cours	e Fees
Course Code	Course Title	Bill Hrs.	District Resident (\$120)	In-State (\$240)	Out-of- State (\$360)	Int'l Student (\$420)	Senior Citizen (\$60)*	Registration Fee^ (Per semester, not course)	Student Support^ (Bill hrs x \$15)	Refundable	Non- Refundable
AVAF 127	Aircraft Systems III	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60	\$271	\$0
AVAF 134	Aircraft Instruments	2.75	\$330	\$660	\$990	\$1,155	\$165	\$25	\$41	\$231	\$0
AVAF 140	Aircraft Welding	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45	\$409	\$0
AVAF 208	Aircraft Structures I	5.5	\$660	\$1,320	\$1,980	\$2,310	\$330	\$25	\$83	\$431	\$0
AVAF 209	Aircraft Structures II	5.75	\$690	\$1,380	\$2,070	\$2,415	\$345	\$25	\$86	\$411	\$0
AVAF 210	Aircraft Structures III	6	\$720	\$1,440	\$2,160	\$2,520	\$360	\$25	\$90	\$594	\$0
AVAF 211	Aircraft Electrical I	5.75	\$690	\$1,380	\$2,070	\$2,415	\$345	\$25	\$86	\$421	\$0
AVAF 212	Aircraft Electrical II	5.75	\$690	\$1,380	\$2,070	\$2,415	\$345	\$25	\$86	\$421	\$0
AVAF 246	Airframe Certification	1.5	\$180	\$360	\$540	\$630	\$90	\$25	\$23	\$191	\$0
AVAU 100	Drone Flight OrientFAA Exam	2.5	\$300	\$600	\$900	\$1,050	\$150	\$25	\$38	\$60	\$90
AVAU 150	Drone Maintenance	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45	\$70	\$380
AVAU 200	Advanced Drone Flight-Capstone	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45	\$60	\$75
AVEL 202	Flight Line Testing	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60	\$486	\$0
AVGM 111	Aviation General I	5	\$600	\$1,200	\$1,800	\$2,100	\$300	\$25	\$75	\$291	\$0
AVGM 112	Aviation General II	8	\$960	\$1,920	\$2,880	\$3,360	\$480	\$25	\$120	\$366	\$0
AVGM 113	Aviation General III	5	\$600	\$1,200	\$1,800	\$2,100	\$300	\$25	\$75	\$431	\$0
AVGM 114	Materials and Processes	7	\$840	\$1,680	\$2,520	\$2,940	\$420	\$25	\$105	\$461	\$0
AVPP 241	Reciprocating Engine	11.25	\$1,350	\$2,700	\$4,050	\$4,725	\$675	\$25	\$169	\$591	\$0
AVPP 251	Reciprocating Engine Systems	2.5	\$300	\$600	\$900	\$1,050	\$150	\$25	\$38	\$266	\$0

^{*}Senior Citizen Tuition: MI residents living outside the LCC district qualify for a reduced rate of \$120 per billing hour. ^Refunds based on Teaching Period dates. Tuition and Fees are subject to change by action of the LCC Board of Trustees.



2025 – 2026 Tuition and Course Fee Schedule

					Tuition^					Cours	e Fees
Course Code	Course Title	Bill Hrs.	District Resident (\$120)	In-State (\$240)	Out-of- State (\$360)	Int'l Student (\$420)	Senior Citizen (\$60)*	Registration Fee^ (Per semester, not course)	Student Support^ (Bill hrs x \$15)	Refundable	Non- Refundable
AVPP 253	Reciprocating Ignition Systems	6.75	\$810	\$1,620	\$2,430	\$2,835	\$405	\$25	\$101	\$516	\$0
AVPP 255	Reciprocating Induction Sys	5.5	\$660	\$1,320	\$1,980	\$2,310	\$330	\$25	\$83	\$451	\$0
AVPP 257	Aircraft Propeller Systems	5.5	\$660	\$1,320	\$1,980	\$2,310	\$330	\$25	\$83	\$351	\$0
AVPP 259	Turbine Engine I	5.5	\$660	\$1,320	\$1,980	\$2,310	\$330	\$25	\$83	\$381	\$0
AVPP 261	Turbine Engine II	5.5	\$660	\$1,320	\$1,980	\$2,310	\$330	\$25	\$83	\$481	\$0
AVPP 263	Turbine Engine Systems	2.75	\$330	\$660	\$990	\$1,155	\$165	\$25	\$41	\$261	\$0
AVPP 265	Powerplant Instruments	2.5	\$300	\$600	\$900	\$1,050	\$150	\$25	\$38	\$241	\$0
AVPP 267	Powerplant Certification	1.5	\$180	\$360	\$540	\$630	\$90	\$25	\$23	\$281	\$0
BIOL 120	Environmental Science	6	\$720	\$1,440	\$2,160	\$2,520	\$360	\$25	\$90	\$41	\$0
BIOL 121	Biol Foundation for Physiology	6	\$720	\$1,440	\$2,160	\$2,520	\$360	\$25	\$90	\$42	\$0
BIOL 125	Intro Biology for Non-Majors	6	\$720	\$1,440	\$2,160	\$2,520	\$360	\$25	\$90	\$77	\$0
BIOL 127	Cell Biology	6	\$720	\$1,440	\$2,160	\$2,520	\$360	\$25	\$90	\$64	\$0
BIOL 128	Organismal Biology	6	\$720	\$1,440	\$2,160	\$2,520	\$360	\$25	\$90	\$59	\$0
BIOL 145	Intro Anatomy and Physiology	6	\$720	\$1,440	\$2,160	\$2,520	\$360	\$25	\$90	\$42	\$0
BIOL 201	Human Anatomy	6	\$720	\$1,440	\$2,160	\$2,520	\$360	\$25	\$90	\$44	\$0
BIOL 202	Human Physiology	5	\$600	\$1,200	\$1,800	\$2,100	\$300	\$25	\$75	\$42	\$0
BIOL 203	Microbiology	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45		
BIOL 204	Microbiology Laboratory	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45	\$121	\$0
BIOL 210	Natural Resource Conservation	6	\$720	\$1,440	\$2,160	\$2,520	\$360	\$25	\$90	\$53	\$0

^{*}Senior Citizen Tuition: MI residents living outside the LCC district qualify for a reduced rate of \$120 per billing hour. ^Refunds based on Teaching Period dates. Tuition and Fees are subject to change by action of the LCC Board of Trustees.



2025 – 2026 Tuition and Course Fee Schedule

					Tuition^					Cours	se Fees
Course Code	Course Title	Bill Hrs.	District Resident (\$120)	In-State (\$240)	Out-of- State (\$360)	Int'l Student (\$420)	Senior Citizen (\$60)*	Registration Fee^ (Per semester, not course)	Student Support^ (Bill hrs x \$15)	Refundable	Non- Refundable
BIOL 260	Botany	6	\$720	\$1,440	\$2,160	\$2,520	\$360	\$25	\$90	\$74	\$0
BIOL 265	Zoology	6	\$720	\$1,440	\$2,160	\$2,520	\$360	\$25	\$90	\$73	\$0
BIOL 270	Human Genetics	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45		
BIOL 275	Molecular Biology I	6	\$720	\$1,440	\$2,160	\$2,520	\$360	\$25	\$90	\$119	\$0
BIOL 276	Molecular Biology II	6	\$720	\$1,440	\$2,160	\$2,520	\$360	\$25	\$90	\$128	\$0
BLDT 120	Structural Framing	6	\$720	\$1,440	\$2,160	\$2,520	\$360	\$25	\$90	\$290	\$0
BLDT 130	Building Exterior Construction	6	\$720	\$1,440	\$2,160	\$2,520	\$360	\$25	\$90	\$290	\$0
BLDT 140	Building Interior Construction	6	\$720	\$1,440	\$2,160	\$2,520	\$360	\$25	\$90	\$340	\$0
BLDT 150	Intro Masonry/Concrete Const	6	\$720	\$1,440	\$2,160	\$2,520	\$360	\$25	\$90	\$550	\$0
BLDT 160	Steel Framing	6	\$720	\$1,440	\$2,160	\$2,520	\$360	\$25	\$90	\$240	\$0
BLDT 180	Builder Pre-Licensure Prep	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60	\$25	\$0
BLDT 285	Residential Bldg Internship	2	\$240	\$480	\$720	\$840	\$120	\$25	\$30		
BUSN 118	Introduction to Business	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45		
BUSN 150	Legal Issues: Start Small Busn	2	\$240	\$480	\$720	\$840	\$120	\$25	\$30		
BUSN 201	International Business	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45		
BUSN 250	Personal Finance	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45		
BUSN 251	Understanding Investments	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45		
BUSN 260	Starting a Business	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60		
BUSN 285	Business Admin Internship	2 to 4	\$240-\$480	\$480-\$960	\$720-\$1,440	\$840-\$1,680	\$120-\$240	\$25	\$30-\$60		

^{*}Senior Citizen Tuition: MI residents living outside the LCC district qualify for a reduced rate of \$120 per billing hour. ^Refunds based on Teaching Period dates. Tuition and Fees are subject to change by action of the LCC Board of Trustees.



2025 – 2026 Tuition and Course Fee Schedule

					Tuition^					Cours	e Fees
Course Code	Course Title	Bill Hrs.	District Resident (\$120)	In-State (\$240)	Out-of- State (\$360)	Int'l Student (\$420)	Senior Citizen (\$60)*	Registration Fee^ (Per semester, not course)	Student Support^ (Bill hrs x \$15)	Refundable	Non- Refundable
CCOM 000	Core Communication	0	\$0	\$0	\$0	\$0	\$0	\$25	\$0		
CGPD 000	Core Global Perspect & Divers	0	\$0	\$0	\$0	\$0	\$0	\$25	\$0		
CHDV 100	Foundations Early Childhood Ed	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45	\$144	\$0
CHDV 101	Child Growth/Develop: 0-12 Yrs	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60	\$144	\$0
CHDV 111	Child Guidance/Communication	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60	\$631	\$0
CHDV 122	Creativity and Play	1	\$120	\$240	\$360	\$420	\$60	\$25	\$15	\$144	\$0
CHDV 123	Literacy and Play	1	\$120	\$240	\$360	\$420	\$60	\$25	\$15	\$144	\$0
CHDV 124	Young Investigators: Math/Sci	1	\$120	\$240	\$360	\$420	\$60	\$25	\$15	\$144	\$0
CHDV 129	Caring for Youngest Learners	2	\$240	\$480	\$720	\$840	\$120	\$25	\$30	\$144	\$0
CHDV 132	Leadership Early Childhood Ed	2	\$240	\$480	\$720	\$840	\$120	\$25	\$30	\$144	\$0
CHDV 135	Inclusion for Every Learner	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45	\$144	\$0
CHDV 215	Infant Toddler Program Dev	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60	\$631	\$0
CHDV 220	Preschool Curriculum Approach	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60	\$631	\$0
CHDV 222	Caring for School-Age Children	2	\$240	\$480	\$720	\$840	\$120	\$25	\$30	\$144	\$0
CHDV 230	Early Childhood Program Admin	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45	\$144	\$0
CHDV 284	Early Childhood Practicum	5	\$600	\$1,200	\$1,800	\$2,100	\$300	\$25	\$75	\$700	\$0
CHDV 297	Child Dev Directed/Indep Study	0.25 to 4	\$30-\$480	\$60-\$960	\$90-\$1,440	\$105-\$1,680	\$15-\$240	\$25	\$3.75-\$60		
CHEM 120	Gen Organic & Biological Chem	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60		
CHEM 125	Basic Chemistry	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60		

^{*}Senior Citizen Tuition: MI residents living outside the LCC district qualify for a reduced rate of \$120 per billing hour. ^Refunds based on Teaching Period dates. Tuition and Fees are subject to change by action of the LCC Board of Trustees.



2025 – 2026 Tuition and Course Fee Schedule

					Tuition^					Cours	e Fees
Course Code	Course Title	Bill Hrs.	District Resident (\$120)	In-State (\$240)	Out-of- State (\$360)	Int'l Student (\$420)	Senior Citizen (\$60)*	Registration Fee^ (Per semester, not course)	Student Support^ (Bill hrs x \$15)	Refundable	Non- Refundable
CHEM 135	Chemistry in Society	5	\$600	\$1,200	\$1,800	\$2,100	\$300	\$25	\$75	\$70	\$0
CHEM 151	General Chemistry Lecture I	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60		
CHEM 152	General Chemistry Lecture II	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45		
CHEM 161	General Chemistry Lab I	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45	\$84	\$0
CHEM 162	General Chemistry Lab II	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45	\$79	\$0
CHEM 182	Introductory Organic Chemistry	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45		
CHEM 192	Intro Organic Chem Lab	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45	\$84	\$0
CHEM 251	Organic Chemistry Lecture I	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60		
CHEM 252	Organic Chemistry Lecture II	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60		
CHEM 255	Biological Chemistry	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60		
CHEM 262	Quantitative Analysis	6	\$720	\$1,440	\$2,160	\$2,520	\$360	\$25	\$90	\$84	\$0
CHEM 272	Organic Chemistry Laboratory	6	\$720	\$1,440	\$2,160	\$2,520	\$360	\$25	\$90	\$131	\$0
CHSE 100	Intro to Health Professions	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45	\$62	\$0
CHSE 108	Long-Term Care Nurse Aide	6.5	\$780	\$1,560	\$2,340	\$2,730	\$390	\$25	\$98	\$477	\$0
CHSE 109	LTC to AC Nurse Assistant/PCT	4.75	\$570	\$1,140	\$1,710	\$1,995	\$285	\$25	\$71	\$85	\$0
CHSE 114	Pathophysiology-Allied Health	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45	\$62	\$0
CHSE 117	Health Law and Ethics	2	\$240	\$480	\$720	\$840	\$120	\$25	\$30	\$62	\$0
CHSE 119	Community Health Career Topics	0.25 to 11	\$30-\$1,320	\$60-\$2,640	\$90-\$3,960	\$105-\$4,620	\$15-\$660	\$25	\$3.75-\$165		
CHSE 120	Medical Terminology	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60	\$62	\$0

^{*}Senior Citizen Tuition: MI residents living outside the LCC district qualify for a reduced rate of \$120 per billing hour. ^Refunds based on Teaching Period dates. Tuition and Fees are subject to change by action of the LCC Board of Trustees.



2025 – 2026 Tuition and Course Fee Schedule

					Tuition^					Cours	e Fees
Course Code	Course Title	Bill Hrs.	District Resident (\$120)	In-State (\$240)	Out-of- State (\$360)	Int'l Student (\$420)	Senior Citizen (\$60)*	Registration Fee^ (Per semester, not course)	Student Support^ (Bill hrs x \$15)	Refundable	Non- Refundable
CHSE 123	Medical Ins Billing/Coding I	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60	\$62	\$0
CHSE 124	Medical Ins Billing/Coding II	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60	\$62	\$0
CHSE 125	Comp-Med Ins Billing/Coding	2	\$240	\$480	\$720	\$840	\$120	\$25	\$30	\$82	\$0
CHSE 127	Medical Ins Billing/Coding III	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45	\$178	\$0
CHSE 131	Electronic Hlth Records Intro	2	\$240	\$480	\$720	\$840	\$120	\$25	\$30	\$78	\$0
CHSE 133	Med Bill/Code Cert Exam Prep	2	\$240	\$480	\$720	\$840	\$120	\$25	\$30	\$62	\$0
CHSE 136	EKG Technician	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60	\$170	\$0
CHSE 139	Community Health Career Topics	0.25 to 11	\$30-\$1,320	\$60-\$2,640	\$90-\$3,960	\$105-\$4,620	\$15-\$660	\$25	\$3.75-\$165		
CHSE 143	Phlebotomy Technician	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45	\$202	\$0
CHSE 144	Phlebotomy Externship	2	\$240	\$480	\$720	\$840	\$120	\$25	\$30	\$177	\$0
CHSE 150	CHSE Directed/Indep Study	0.25 to 7	\$30-\$840	\$60-\$1,680	\$90-\$2,520	\$105-\$2,940	\$15-\$420	\$25	\$3.75-\$105		
CHSE 151	Patient Care Technician	9.25	\$1,110	\$2,220	\$3,330	\$3,885	\$555	\$25	\$139	\$567	\$0
CHSE 235	Pharmacy Technician	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60	\$186	\$0
CHSE 236	Pharmacy Technician Externship	2	\$240	\$480	\$720	\$840	\$120	\$25	\$30	\$150	\$0
CITA 110	Intro to Microsoft Office	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45	\$15	\$0
CITA 115	Microsoft PowerPoint	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45	\$15	\$0
CITA 119	Microsoft Word	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45	\$15	\$0
CITA 126	Microsoft Excel	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45	\$15	\$0
CITA 133	Microsoft Access Database	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45	\$15	\$0

^{*}Senior Citizen Tuition: MI residents living outside the LCC district qualify for a reduced rate of \$120 per billing hour. ^Refunds based on Teaching Period dates. Tuition and Fees are subject to change by action of the LCC Board of Trustees.



2025 – 2026 Tuition and Course Fee Schedule

					Tuition^					Cours	se Fees
Course Code	Course Title	Bill Hrs.	District Resident (\$120)	In-State (\$240)	Out-of- State (\$360)	Int'l Student (\$420)	Senior Citizen (\$60)*	Registration Fee^ (Per semester, not course)	Student Support^ (Bill hrs x \$15)	Refundable	Non- Refundable
CITA 140	Microsoft Outlook	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45	\$15	\$0
CITA 219	Advanced Microsoft Word	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45	\$15	\$0
CITA 226	Microsoft Excel-Advanced	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45	\$15	\$0
CITC 282	Ethical Hacking	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45	\$75	\$0
CITC 285	System Defense	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45	\$75	\$0
CITC 287	Cybersecurity Incident Respons	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45		
CITC 290	Cybersecurity Risk Management	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60		
CITD 120	SQL Concepts	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45	\$20	\$0
CITD 250	Database Concepts	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45	\$20	\$0
CITF 110	Intro Computer Info Systems	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45	\$10	\$0
CITF 120	Operating Systems Concepts	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45	\$15	\$0
CITF 140	Information Technology Ethics	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45	\$20	\$0
CITF 240	IT Project Management	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45	\$17	\$0
CITF 260	Systems Analysis and Design	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60	\$22	\$0
CITI 100	Al Foundations	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45		
CITI 120	Data Analysis with Python	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45		
CITI 140	Intro to Machine Learning	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45		
CITI 210	Natural Language Processing	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45		
CITI 220	Computer Vision	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45		

^{*}Senior Citizen Tuition: MI residents living outside the LCC district qualify for a reduced rate of \$120 per billing hour. ^Refunds based on Teaching Period dates. Tuition and Fees are subject to change by action of the LCC Board of Trustees.



2025 – 2026 Tuition and Course Fee Schedule

					Tuition^					Cours	se Fees
Course Code	Course Title	Bill Hrs.	District Resident (\$120)	In-State (\$240)	Out-of- State (\$360)	Int'l Student (\$420)	Senior Citizen (\$60)*	Registration Fee^ (Per semester, not course)	Student Support^ (Bill hrs x \$15)	Refundable	Non- Refundable
CITN 115	IoT & Automation Fundamentals	6	\$720	\$1,440	\$2,160	\$2,520	\$360	\$25	\$90	\$200	\$0
CITN 120	Networking Concepts	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45	\$30	\$0
CITN 220	Introduction to Networks	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45	\$45	\$0
CITN 222	Wireless Networking & Security	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45	\$55	\$0
CITN 225	Switch Route Wireless Essentls	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45	\$45	\$0
CITN 230	Linux Operating System	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45		
CITN 240	Ent Networking Sec Automation	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45	\$315	\$0
CITN 244	Securing Networking Devices	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45	\$125	\$0
CITN 250	Microsoft Network Server	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45	\$60	\$0
CITN 280	IT Security Foundations	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45	\$60	\$0
CITO 100	Cloud Foundations with AWS	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45		
CITO 120	Cloud Architecting with AWS	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45		
CITO 140	Cloud Development Ops with AWS	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45		
CITO 240	Machine Learning with AWS	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45		
CITP 110	Intro to Programming - Python	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60	\$22	\$0
CITP 130	Intro to Mobile App Devel	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45	\$20	\$0
CITP 140	Software Testing	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45	\$20	\$0
CITP 150	Intro to VB.NET Programming	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60	\$20	\$0
CITP 180	Intro to C#.NET Programming	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60	\$2	\$0

^{*}Senior Citizen Tuition: MI residents living outside the LCC district qualify for a reduced rate of \$120 per billing hour. ^Refunds based on Teaching Period dates. Tuition and Fees are subject to change by action of the LCC Board of Trustees.



2025 – 2026 Tuition and Course Fee Schedule

					Tuition^					Cours	e Fees
Course Code	Course Title	Bill Hrs.	District Resident (\$120)	In-State (\$240)	Out-of- State (\$360)	Int'l Student (\$420)	Senior Citizen (\$60)*	Registration Fee^ (Per semester, not course)	Student Support^ (Bill hrs x \$15)	Refundable	Non- Refundable
CITP 190	Intro to Programming in JAVA	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60	\$20	\$0
CITP 220	Game Design & Development	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60	\$20	\$0
CITP 230	Mobile App Devel for Android	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60	\$20	\$0
CITP 235	Mobile App Devel for Apple	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60	\$20	\$0
CITP 240	Advanced Software Testing	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45	\$20	\$0
CITP 250	Advanced VB.NET Programming	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60	\$22	\$0
CITP 280	Advanced C#.NET Programming	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60	\$22	\$0
CITP 290	Adv JAVA Programming for Busn	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60	\$25	\$0
CITP 295	Programming Internship	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45		
CITS 110	Helpdesk Support Specialist	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45	\$15	\$0
CITS 125	Computer Support: A+ Cert Prep	6	\$720	\$1,440	\$2,160	\$2,520	\$360	\$25	\$90	\$270	\$0
CITS 170	Basic Electronic for PC Repair	7	\$840	\$1,680	\$2,520	\$2,940	\$420	\$25	\$105	\$140	\$0
CITS 172	Intro to Basic Electronics	4.5	\$540	\$1,080	\$1,620	\$1,890	\$270	\$25	\$68	\$140	\$0
CITS 176	Computer Troubleshooting	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60	\$40	\$0
CITS 225	Networking for PC Technicians	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45	\$178	\$0
CITS 230	Computer Virtualization	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45	\$15	\$0
CITS 285	IT Professional Internship	2 to 3	\$240-\$360	\$480-\$720	\$720-\$1,080	\$840-\$1,260	\$120-\$180	\$25	\$30-\$45		
CITW 150	Internet Literacy	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45	\$12	\$0
CITW 160	Web Development HTML & CSS	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45	\$15	\$0

^{*}Senior Citizen Tuition: MI residents living outside the LCC district qualify for a reduced rate of \$120 per billing hour. ^Refunds based on Teaching Period dates. Tuition and Fees are subject to change by action of the LCC Board of Trustees.



2025 – 2026 Tuition and Course Fee Schedule

					Tuition^					Cours	se Fees
Course Code	Course Title	Bill Hrs.	District Resident (\$120)	In-State (\$240)	Out-of- State (\$360)	Int'l Student (\$420)	Senior Citizen (\$60)*	Registration Fee^ (Per semester, not course)	Student Support^ (Bill hrs x \$15)	Refundable	Non- Refundable
CITW 165	Web Development JavaScript	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45	\$15	\$0
CITW 175	Web Site Management	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45	\$15	\$0
CITW 180	Web Development ASP.NET	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60	\$20	\$0
CITW 185	Web Development PHP & MySQL	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60	\$20	\$0
CIVL 101	Civil Drafting	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60	\$75	\$0
CIVL 110	Density Certification	2	\$240	\$480	\$720	\$840	\$120	\$25	\$30		
CIVL 120	Surveying	6	\$720	\$1,440	\$2,160	\$2,520	\$360	\$25	\$90	\$135	\$0
CIVL 124	Route Survey	6	\$720	\$1,440	\$2,160	\$2,520	\$360	\$25	\$90	\$135	\$0
CIVL 131	Traffic Technology	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45	\$55	\$0
CIVL 135	Soils Technology	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45	\$60	\$0
CIVL 141	Site Inspection	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45	\$30	\$0
CIVL 143	Site Dsgn & Layout/Civil Techn	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60	\$65	\$0
CIVL 225	Civil Tech Independent Study	1 to 4	\$120-\$480	\$240-\$960	\$360-\$1,440	\$420-\$1,680	\$60-\$240	\$25	\$15-\$60		
CIVL 241	Statics/Strength of Materials	5	\$600	\$1,200	\$1,800	\$2,100	\$300	\$25	\$75	\$25	\$0
CIVL 290	Civil Technology Internship	2 to 4	\$240-\$480	\$480-\$960	\$720-\$1,440	\$840-\$1,680	\$120-\$240	\$25	\$30-\$60		
CJUS 101	Intro to Criminal Justice	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45		
CJUS 102	Crime Causes and Conditions	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45		
CJUS 103	Criminal Law	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45		
CJUS 104	Theory of Patrol	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45		

^{*}Senior Citizen Tuition: MI residents living outside the LCC district qualify for a reduced rate of \$120 per billing hour. ^Refunds based on Teaching Period dates. Tuition and Fees are subject to change by action of the LCC Board of Trustees.



2025 – 2026 Tuition and Course Fee Schedule

					Tuition^					Cours	e Fees
Course Code	Course Title	Bill Hrs.	District Resident (\$120)	In-State (\$240)	Out-of- State (\$360)	Int'l Student (\$420)	Senior Citizen (\$60)*	Registration Fee^ (Per semester, not course)	Student Support^ (Bill hrs x \$15)	Refundable	Non- Refundable
CJUS 106	Intro to Juvenile Justice	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45		
CJUS 126	Juvenile Offenders/Families	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45		
CJUS 131	Introduction to Corrections	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45		
CJUS 133	Juvenile Residential Services	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45		
CJUS 134	Probation and Parole	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45		
CJUS 135	Legal Issues in Corrections	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45		
CJUS 201	Criminal Justice Org/Admin	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45		
CJUS 203	Criminal Procedure	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45		
CJUS 204	Criminal Investigation	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60		
CJUS 205	Policing into the 21st Century	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45		
CJUS 207	Digital Evidence/1st Responder	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45		
CJUS 210	Intro to Forensic Science	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45	\$30	\$0
CJUS 245	Report Writing/Crim Justice	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45		
CJUS 247	Juvenile Justice: Special Pops	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45		
CJUS 250	Correctional Institutions	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45		
CJUS 251	Correctional Clients	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45		
CJUS 255	Human Relations/Crim Justice	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45		
CJUS 270	Police Academy I	14	\$1,680	\$3,360	\$5,040	\$5,880	\$840	\$25	\$210	\$405	\$615
CJUS 271	Police Academy II	21	\$2,520	\$5,040	\$7,560	\$8,820	\$1,260	\$25	\$315	\$1,970	\$0

^{*}Senior Citizen Tuition: MI residents living outside the LCC district qualify for a reduced rate of \$120 per billing hour. ^Refunds based on Teaching Period dates. Tuition and Fees are subject to change by action of the LCC Board of Trustees.



2025 – 2026 Tuition and Course Fee Schedule

					Tuition^					Cours	e Fees
Course Code	Course Title	Bill Hrs.	District Resident (\$120)	In-State (\$240)	Out-of- State (\$360)	Int'l Student (\$420)	Senior Citizen (\$60)*	Registration Fee^ (Per semester, not course)	Student Support^ (Bill hrs x \$15)	Refundable	Non- Refundable
CJUS 272	Local Corrections Academy I	5	\$600	\$1,200	\$1,800	\$2,100	\$300	\$25	\$75	\$60	\$0
CJUS 273	Local Corrections Academy II	5	\$600	\$1,200	\$1,800	\$2,100	\$300	\$25	\$75	\$240	\$0
CJUS 285	Law Enforcement Internship	2	\$240	\$480	\$720	\$840	\$120	\$25	\$30		
CJUS 286	Juvenile Internship I	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45		
CJUS 288	Corrections Internship	2 to 4	\$240-\$480	\$480-\$960	\$720-\$1,440	\$840-\$1,680	\$120-\$240	\$25	\$30-\$60		
CMTH 000	Core Mathematics	0	\$0	\$0	\$0	\$0	\$0	\$25	\$0		
COMM 110	Communication in the Workplace	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45		
COMM 120	Dynamics of Communication	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45		
COMM 130	Fundamentals Public Speaking	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45		
COMM 200	Small Group Communication	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45		
COMM 240	Interpersonal Communication	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45		
COMM 260	Nonverbal Communication	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45		
COMM 270	Mass Communication	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45		
COMM 280	Intercultural Communication	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45		
CPAR 250	Community Paramedicine I	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45	\$204	\$0
CPAR 251	Chronic Care in the Community	6	\$720	\$1,440	\$2,160	\$2,520	\$360	\$25	\$90	\$560	\$0
CPAR 252	Community Paramedicine II	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45	\$204	\$0
CPAR 270	Community Paramedic Clinical	6.5	\$780	\$1,560	\$2,340	\$2,730	\$390	\$25	\$98	\$1,119	\$0
CPSC 101	Intro to Computer Science	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45		

^{*}Senior Citizen Tuition: MI residents living outside the LCC district qualify for a reduced rate of \$120 per billing hour. ^Refunds based on Teaching Period dates. Tuition and Fees are subject to change by action of the LCC Board of Trustees.



2025 – 2026 Tuition and Course Fee Schedule

					Tuition^					Cours	e Fees
Course Code	Course Title	Bill Hrs.	District Resident (\$120)	In-State (\$240)	Out-of- State (\$360)	Int'l Student (\$420)	Senior Citizen (\$60)*	Registration Fee^ (Per semester, not course)	Student Support^ (Bill hrs x \$15)	Refundable	Non- Refundable
CPSC 230	Algorithms and Computing w/C++	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60	\$20	\$0
CPSC 231	Computing and Data Structures	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60	\$20	\$0
CPSC 260	Computer Science Structures	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60		
CSCI 000	Core Science	0	\$0	\$0	\$0	\$0	\$0	\$25	\$0		
CWRI 000	Core Writing	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60		
DANC 100	Intro to Dance Techniques	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45		
DANC 102	Beginning Modern	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45		
DANC 103	Beginning Jazz	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45		
DANC 290	Dance Studio Internship	2	\$240	\$480	\$720	\$840	\$120	\$25	\$30		
DCTM 100	Intro to the Built Environment	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60	\$90	\$0
DCTM 101	Drafting/Intro to CAD	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60	\$265	\$0
DCTM 102	Industrial/Construction Safety	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45	\$45	\$0
DCTM 103	Codes and Specifications	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45	\$140	\$0
DCTM 150	Civil Construction Materials	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60	\$115	\$0
DCTM 200	Construction Management I	6	\$720	\$1,440	\$2,160	\$2,520	\$360	\$25	\$90	\$230	\$0
DCTM 201	Construction Management II	6	\$720	\$1,440	\$2,160	\$2,520	\$360	\$25	\$90	\$230	\$0
DCTM 210	MEP Equipment for Buildings	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45		
DCTM 220	BIM for Construction	6	\$720	\$1,440	\$2,160	\$2,520	\$360	\$25	\$90	\$340	\$0
DENT 140	Oral Histology & Embryology	1.5	\$180	\$360	\$540	\$630	\$90	\$25	\$23	\$258	\$0

^{*}Senior Citizen Tuition: MI residents living outside the LCC district qualify for a reduced rate of \$120 per billing hour. ^Refunds based on Teaching Period dates. Tuition and Fees are subject to change by action of the LCC Board of Trustees.



2025 – 2026 Tuition and Course Fee Schedule

					Tuition^					Cours	se Fees
Course Code	Course Title	Bill Hrs.	District Resident (\$120)	In-State (\$240)	Out-of- State (\$360)	Int'l Student (\$420)	Senior Citizen (\$60)*	Registration Fee^ (Per semester, not course)	Student Support^ (Bill hrs x \$15)	Refundable	Non- Refundable
DENT 142	PreClinical Dental Hygiene	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45	\$258	\$0
DENT 144	PreClinic Dental Hyg Practice	8	\$960	\$1,920	\$2,880	\$3,360	\$480	\$25	\$120	\$1,798	\$1,200
DENT 146	Head, Neck & Oral Anatomy	5.5	\$660	\$1,320	\$1,980	\$2,310	\$330	\$25	\$83	\$545	\$0
DENT 148	Dental Radiography	5	\$600	\$1,200	\$1,800	\$2,100	\$300	\$25	\$75	\$555	\$0
DENT 152	Dental Hygiene I	2	\$240	\$480	\$720	\$840	\$120	\$25	\$30	\$258	\$0
DENT 154	Clinical Dental Hygiene I	8	\$960	\$1,920	\$2,880	\$3,360	\$480	\$25	\$120	\$2,481	\$500
DENT 156	Nutrition	2	\$240	\$480	\$720	\$840	\$120	\$25	\$30	\$258	\$0
DENT 158	Dental Pharmacology	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45	\$258	\$0
DENT 161	Principles of Periodontics	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45	\$258	\$0
DENT 174	Clinical Dental Hygiene II	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60	\$1,629	\$0
DENT 176	Dental Materials & Methods	5	\$600	\$1,200	\$1,800	\$2,100	\$300	\$25	\$75	\$634	\$0
DENT 240	Anxiety & Pain Control Mgmt	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60	\$683	\$0
DENT 242	Dental Hygiene III	2	\$240	\$480	\$720	\$840	\$120	\$25	\$30	\$288	\$0
DENT 244	Clinical Dental Hygiene III	12	\$1,440	\$2,880	\$4,320	\$5,040	\$720	\$25	\$180	\$3,635	\$350
DENT 247	Oral Pathology	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45	\$258	\$0
DENT 248	Dental Public Health & Educ	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45	\$291	\$0
DENT 252	Dental Hygiene IV	2	\$240	\$480	\$720	\$840	\$120	\$25	\$30	\$258	\$0
DENT 254	Clinical Dental Hygiene IV	12	\$1,440	\$2,880	\$4,320	\$5,040	\$720	\$25	\$180	\$3,664	\$0
DENT 256	Community Oral Health	1.5	\$180	\$360	\$540	\$630	\$90	\$25	\$23	\$253	\$0

^{*}Senior Citizen Tuition: MI residents living outside the LCC district qualify for a reduced rate of \$120 per billing hour. ^Refunds based on Teaching Period dates. Tuition and Fees are subject to change by action of the LCC Board of Trustees.



2025 – 2026 Tuition and Course Fee Schedule

					Tuition^					Cours	se Fees
Course Code	Course Title	Bill Hrs.	District Resident (\$120)	In-State (\$240)	Out-of- State (\$360)	Int'l Student (\$420)	Senior Citizen (\$60)*	Registration Fee^ (Per semester, not course)	Student Support^ (Bill hrs x \$15)	Refundable	Non- Refundable
DENT 270	Dental Hygiene Board Review	2	\$240	\$480	\$720	\$840	\$120	\$25	\$30	\$313	\$0
DENT 290	Directed Study	0.25 to 6	\$30-\$720	\$60-\$1,440	\$90-\$2,160	\$105-\$2,520	\$15-\$360	\$25	\$3.75-\$90		
DMAC 120	Intro to Audio Production	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60	\$90	\$0
DMAC 130	Intro to Video Production	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60	\$90	\$0
DMAC 131	Digital Cinematography I	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60	\$75	\$0
DMAC 132	Video Post-Production I	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60	\$45	\$0
DMAC 140	Pre-Production Design	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45	\$110	\$0
DMAC 141	Ethics and Impact of the Media	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45		
DMAC 222	Audio Recording II	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60	\$100	\$0
DMAC 231	Digital Cinematography II	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60	\$95	\$0
DMAC 232	Video Post-Production II	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60	\$40	\$0
DMAC 234	Studio Production Techniques	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60	\$50	\$0
DMAC 240	Employment Issues in Media	2	\$240	\$480	\$720	\$840	\$120	\$25	\$30		
DMAC 246	Workshop: Video	2	\$240	\$480	\$720	\$840	\$120	\$25	\$30	\$70	\$0
DMAC 255	Digital Presentation & Signage	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60	\$40	\$0
DMAC 260	World Cinema	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60	\$20	\$0
DMAC 295	Media/Cinema Portfolio	2	\$240	\$480	\$720	\$840	\$120	\$25	\$30		
DMAC 296	Media/Cinema Internship	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45		
DTSC 200	Principles of Data Science	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60		

^{*}Senior Citizen Tuition: MI residents living outside the LCC district qualify for a reduced rate of \$120 per billing hour. ^Refunds based on Teaching Period dates. Tuition and Fees are subject to change by action of the LCC Board of Trustees.



2025 – 2026 Tuition and Course Fee Schedule

					Tuition^					Cours	e Fees
Course Code	Course Title	Bill Hrs.	District Resident (\$120)	In-State (\$240)	Out-of- State (\$360)	Int'l Student (\$420)	Senior Citizen (\$60)*	Registration Fee^ (Per semester, not course)	Student Support^ (Bill hrs x \$15)	Refundable	Non- Refundable
DTSC 201	Data Science with Python	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60		
ECON 120	Power, Authority and Exchange	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60		
ECON 201	Principles of Economics-Micro	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60		
ECON 202	Principles of Economics-Macro	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60		
ECON 213	U.S. Economic/Business History	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45		
ECON 260	Comparative Economic Systems	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45		
EDUC 204	Educational Psychology	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45		
EDUC 220	Foundations of Education	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45		
EDUC 226	Foundations of Literacy	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45		
EDUC 230	Exceptional Learners	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45		
EDUC 280	Teacher Education Practicum	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45		
ELTA 105	Elect. Industry Orientation	0.5	\$60	\$120	\$180	\$210	\$30	\$25	\$8	\$10	\$0
ELTA 106	Basic Electrical Calculations	2	\$240	\$480	\$720	\$840	\$120	\$25	\$30	\$10	\$0
ELTA 120	AC Fundamentals - Electrician	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45	\$71	\$13
ELTA 155	Transformer Fundamentals	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45	\$97	\$0
ELTA 160	PLC Overview for Electricians	2	\$240	\$480	\$720	\$840	\$120	\$25	\$30	\$120	\$0
ELTA 180	Introduction to Fire Alarms	1	\$120	\$240	\$360	\$420	\$60	\$25	\$15	\$15	\$0
ELTE 104	Employee Worksite Basics	1	\$120	\$240	\$360	\$420	\$60	\$25	\$15	\$15	\$0
ELTE 108	Practical Electricity I	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45	\$74	\$6

^{*}Senior Citizen Tuition: MI residents living outside the LCC district qualify for a reduced rate of \$120 per billing hour. ^Refunds based on Teaching Period dates. Tuition and Fees are subject to change by action of the LCC Board of Trustees.



2025 – 2026 Tuition and Course Fee Schedule

					Tuition^					Cours	e Fees
Course Code	Course Title	Bill Hrs.	District Resident (\$120)	In-State (\$240)	Out-of- State (\$360)	Int'l Student (\$420)	Senior Citizen (\$60)*	Registration Fee^ (Per semester, not course)	Student Support^ (Bill hrs x \$15)	Refundable	Non- Refundable
ELTE 109	Practical Electricity II	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45	\$64	\$6
ELTE 110	Practical Electricity	6	\$720	\$1,440	\$2,160	\$2,520	\$360	\$25	\$90	\$140	\$12
ELTE 111	Intro to Industrial Automation	6	\$720	\$1,440	\$2,160	\$2,520	\$360	\$25	\$90	\$115	\$15
ELTE 112	Basic Wiring Installation	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45	\$72	\$0
ELTE 121	Electrical Mathematics	6	\$720	\$1,440	\$2,160	\$2,520	\$360	\$25	\$90	\$97	\$0
ELTE 122	Industrial Control Electronics	7	\$840	\$1,680	\$2,520	\$2,940	\$420	\$25	\$105	\$116	\$0
ELTE 123	Motors and Transformers	7	\$840	\$1,680	\$2,520	\$2,940	\$420	\$25	\$105	\$130	\$0
ELTE 129	Machine Controls I - A	2.5	\$300	\$600	\$900	\$1,050	\$150	\$25	\$38	\$48	\$0
ELTE 130	Machine Controls I - B	2.5	\$300	\$600	\$900	\$1,050	\$150	\$25	\$38	\$72	\$0
ELTE 131	Machine Controls I	5	\$600	\$1,200	\$1,800	\$2,100	\$300	\$25	\$75	\$147	\$0
ELTE 132	Control Panel Assembly	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45	\$481	\$0
ELTE 136	Digital Basics	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45	\$92	\$0
ELTE 141	National Electrical Code I	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60	\$41	\$0
ELTE 142	National Electrical Code II	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60	\$41	\$0
ELTE 145	Electrical Prints for Building	5	\$600	\$1,200	\$1,800	\$2,100	\$300	\$25	\$75	\$88	\$0
ELTE 147	National Electric Code Update	1	\$120	\$240	\$360	\$420	\$60	\$25	\$15	\$13	\$0
ELTE 150	Electric Motor Maintenance	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45	\$131	\$0
ELTE 154	Utility Prints and Diagrams	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45	\$50	\$0
ELTE 156	Lineworker/Utility Rigging	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60	\$90	\$10

^{*}Senior Citizen Tuition: MI residents living outside the LCC district qualify for a reduced rate of \$120 per billing hour. ^Refunds based on Teaching Period dates. Tuition and Fees are subject to change by action of the LCC Board of Trustees.



2025 – 2026 Tuition and Course Fee Schedule

					Tuition^					Cours	se Fees
Course Code	Course Title	Bill Hrs.	District Resident (\$120)	In-State (\$240)	Out-of- State (\$360)	Int'l Student (\$420)	Senior Citizen (\$60)*	Registration Fee^ (Per semester, not course)	Student Support^ (Bill hrs x \$15)	Refundable	Non- Refundable
ELTE 173	Energy Industry Fundamentals I	2	\$240	\$480	\$720	\$840	\$120	\$25	\$30	\$15	\$0
ELTE 174	Energy Industry Fundamental II	2	\$240	\$480	\$720	\$840	\$120	\$25	\$30	\$15	\$0
ELTE 181	Pole Climbing I	1	\$120	\$240	\$360	\$420	\$60	\$25	\$15	\$125	\$0
ELTE 182	Pole Climbing II	1	\$120	\$240	\$360	\$420	\$60	\$25	\$15	\$130	\$0
ELTE 185	Pole Climbing Practice I	0.5	\$60	\$120	\$180	\$210	\$30	\$25	\$8	\$105	\$0
ELTE 232	Machine Controls II	6	\$720	\$1,440	\$2,160	\$2,520	\$360	\$25	\$90	\$95	\$0
ELTE 251	Energy Generation & Control I	5	\$600	\$1,200	\$1,800	\$2,100	\$300	\$25	\$75	\$76	\$0
ELTE 252	Energy Generation & Control II	5	\$600	\$1,200	\$1,800	\$2,100	\$300	\$25	\$75	\$76	\$0
ELTE 255	Power Instrumentation	5	\$600	\$1,200	\$1,800	\$2,100	\$300	\$25	\$75	\$72	\$0
ELTE 260	Programmable Controllers I	6	\$720	\$1,440	\$2,160	\$2,520	\$360	\$25	\$90	\$220	\$0
ELTE 261	Programmable Controllers II	8	\$960	\$1,920	\$2,880	\$3,360	\$480	\$25	\$120	\$220	\$0
ELTE 262	Programmable Controllers III	8	\$960	\$1,920	\$2,880	\$3,360	\$480	\$25	\$120	\$165	\$0
ELTE 270	Lineworker Fundamentals	1.5	\$180	\$360	\$540	\$630	\$90	\$25	\$23	\$60	\$0
ELTE 272	Electric Basic Line Climbing	6	\$720	\$1,440	\$2,160	\$2,520	\$360	\$25	\$90	\$385	\$80
ELTE 274	Ground/Utility Worker	9	\$1,080	\$2,160	\$3,240	\$3,780	\$540	\$25	\$135	\$690	\$0
ELTE 276	Energized Secondary Worker	8	\$960	\$1,920	\$2,880	\$3,360	\$480	\$25	\$120	\$595	\$0
ELTE 290	Electrical Internship	2 to 4	\$240-\$480	\$480-\$960	\$720-\$1,440	\$840-\$1,680	\$120-\$240	\$25	\$30-\$60		
ELTE 291	Electrical Project Lab	1 to 4	\$120-\$480	\$240-\$960	\$360-\$1,440	\$420-\$1,680	\$60-\$240	\$25	\$15-\$60		
EMTA 100	Emergency Medical Responder	6	\$720	\$1,440	\$2,160	\$2,520	\$360	\$25	\$90	\$345	\$50

^{*}Senior Citizen Tuition: MI residents living outside the LCC district qualify for a reduced rate of \$120 per billing hour. ^Refunds based on Teaching Period dates. Tuition and Fees are subject to change by action of the LCC Board of Trustees.



2025 – 2026 Tuition and Course Fee Schedule

					Tuition^					Cours	e Fees
Course Code	Course Title	Bill Hrs.	District Resident (\$120)	In-State (\$240)	Out-of- State (\$360)	Int'l Student (\$420)	Senior Citizen (\$60)*	Registration Fee^ (Per semester, not course)	Student Support^ (Bill hrs x \$15)	Refundable	Non- Refundable
EMTA 121	EMT Medical Trauma	6	\$720	\$1,440	\$2,160	\$2,520	\$360	\$25	\$90	\$381	\$0
EMTA 122	EMT Skills	6.75	\$810	\$1,620	\$2,430	\$2,835	\$405	\$25	\$101	\$50	\$1,098
EMTA 125	EMT Clinical	2.25	\$270	\$540	\$810	\$945	\$135	\$25	\$34	\$0	\$1,463
EMTA 222	EMS Instructor-Coordinator	9	\$1,080	\$2,160	\$3,240	\$3,780	\$540	\$25	\$135	\$270	\$0
EMTA 224	EMS Instr-Coord Student Teach	2	\$240	\$480	\$720	\$840	\$120	\$25	\$30	\$270	\$0
ENGL 098	Integrated Reading Writing I	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60		
ENGL 099	Integrated Reading Writing II	2	\$240	\$480	\$720	\$840	\$120	\$25	\$30		
ENGL 118	Personal Writing	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45		
ENGL 121	Composition I	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60		
ENGL 122	Composition II	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60		
ENGL 124	Technical Writing	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45		
ENGL 127	Business Writing	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45		
ENGL 131	Honors Composition I	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60		
ENGL 132	Honors Composition II	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60		
ENGL 200	Introduction to Literature	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45		
ENGL 201	Introduction to Poetry	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60		
ENGL 202	World Drama	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60		
ENGL 208	Children's Literature	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60		
ENGL 211	World Literature I	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60		

^{*}Senior Citizen Tuition: MI residents living outside the LCC district qualify for a reduced rate of \$120 per billing hour. ^Refunds based on Teaching Period dates. Tuition and Fees are subject to change by action of the LCC Board of Trustees.



2025 – 2026 Tuition and Course Fee Schedule

					Tuition^					Cours	e Fees
Course Code	Course Title	Bill Hrs.	District Resident (\$120)	In-State (\$240)	Out-of- State (\$360)	Int'l Student (\$420)	Senior Citizen (\$60)*	Registration Fee^ (Per semester, not course)	Student Support^ (Bill hrs x \$15)	Refundable	Non- Refundable
ENGL 212	World Literature II	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60		
ENGL 220	Science Fiction	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60		
ENGL 240	The Film as Art	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60		
ENGL 255	American Lit to 1865	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60		
ENGL 256	American Lit 1865 to Present	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60		
ENGL 260	African-American Literature	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60		
ENGL 261	Creative Writing I	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45		
ENGL 266	British Lit to 1800	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60		
ENGL 267	British Lit 1800 to Present	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60		
ENGL 270	Gender and Literature	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60		
ENGL 271	Creative Writing II	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45		
ENGL 278	Writing the Novel	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45		
ENGL 279	Prose Style	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45		
ENGL 290	Shakespeare	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60		
ENGL 295	Independent Study in English	1 to 4	\$120-\$480	\$240-\$960	\$360-\$1,440	\$420-\$1,680	\$60-\$240	\$25	\$15-\$60		
ESOL 098	ESL Combined Skills Level 4	6	\$720	\$1,440	\$2,160	\$2,520	\$360	\$25	\$90		
ESOL 099	ESL Combined Skills Level 5	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60		
FIRE 100	Principles Emergency Services	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60		
FIRE 101	MI F.F.T.C. Basic Fire Level I	14	\$1,680	\$3,360	\$5,040	\$5,880	\$840	\$25	\$210	\$945	\$800

^{*}Senior Citizen Tuition: MI residents living outside the LCC district qualify for a reduced rate of \$120 per billing hour. ^Refunds based on Teaching Period dates. Tuition and Fees are subject to change by action of the LCC Board of Trustees.



2025 – 2026 Tuition and Course Fee Schedule

					Tuition^					Cours	e Fees
Course Code	Course Title	Bill Hrs.	District Resident (\$120)	In-State (\$240)	Out-of- State (\$360)	Int'l Student (\$420)	Senior Citizen (\$60)*	Registration Fee^ (Per semester, not course)	Student Support^ (Bill hrs x \$15)	Refundable	Non- Refundable
FIRE 102	MI F.F.T.C. Basic Fire Lev II	8	\$960	\$1,920	\$2,880	\$3,360	\$480	\$25	\$120	\$2,255	\$0
FIRE 104	Fire Behavior & Combustion	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45		
FIRE 105	Fire/Hydraulics/Water Supply	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60		
FIRE 110	Fire Prevention	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45		
FIRE 112	Occup Health & Safety/Fire Svc	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60		
FIRE 115	Bldg Construction/Fire Protect	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60		
FIRE 125	Fire Protection Systems	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60		
FIRE 150	Strategy and Tactics	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60		
FIRE 210	Fire Investigation I	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60		
FIRE 220	Hazardous Materials/Fire Svc	5	\$600	\$1,200	\$1,800	\$2,100	\$300	\$25	\$75	\$10	\$0
FIRE 250	Fire Administration I	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60		
FIRE 270	Fire Service Career Developmnt	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45		
GEOG 120	Introduction to Geography	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45	\$6	\$0
GEOG 200	World Regional Geography	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60	\$20	\$0
GEOG 202	Geography of North America	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45	\$20	\$0
GEOG 206	Physical Geography	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60	\$37	\$0
GEOG 220	Weather, Forecasting & Climate	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60	\$20	\$0
GEOG 221	Physical Geography	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60	\$37	\$0
GEOL 221	Physical Geology	6	\$720	\$1,440	\$2,160	\$2,520	\$360	\$25	\$90	\$30	\$0

^{*}Senior Citizen Tuition: MI residents living outside the LCC district qualify for a reduced rate of \$120 per billing hour. ^Refunds based on Teaching Period dates. Tuition and Fees are subject to change by action of the LCC Board of Trustees.



2025 – 2026 Tuition and Course Fee Schedule

					Tuition^					Cours	e Fees
Course Code	Course Title	Bill Hrs.	District Resident (\$120)	In-State (\$240)	Out-of- State (\$360)	Int'l Student (\$420)	Senior Citizen (\$60)*	Registration Fee^ (Per semester, not course)	Student Support^ (Bill hrs x \$15)	Refundable	Non- Refundable
GEOL 222	Historical Geology	6	\$720	\$1,440	\$2,160	\$2,520	\$360	\$25	\$90	\$45	\$0
GEOL 230	Environmental Geology	6	\$720	\$1,440	\$2,160	\$2,520	\$360	\$25	\$90	\$45	\$0
GERO 100	Introduction to Human Aging	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60	\$71	\$0
GERO 191	Special Topics in Gerontology	0	\$0	\$0	\$0	\$0	\$0	\$25	\$0		
GRMN 121	Elementary German I	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60		
GRMN 122	Elementary German II	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60		
GSCI 100	Intro to Geospatial Tech	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45	\$40	\$0
GSCI 110	Beginning ArcGIS	5	\$600	\$1,200	\$1,800	\$2,100	\$300	\$25	\$75	\$70	\$0
GSCI 120	Advanced ArcGIS	5	\$600	\$1,200	\$1,800	\$2,100	\$300	\$25	\$75	\$90	\$0
GSCI 150	Drone Flight for Industry	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60	\$170	\$0
GSCI 210	Global Positioning Systems	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60	\$130	\$0
GSCI 240	Cartography in GIS	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60	\$40	\$0
GSCI 241	Remote Sens/AirPhoto Interpret	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60	\$40	\$0
GSCI 250	Drone Map Analysis	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60	\$170	\$0
GSCI 260	Automating Workflows in GIS	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60	\$90	\$0
GSCI 264	Web GIS	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60	\$90	\$0
GSCI 271	Parcel Mapping	5	\$600	\$1,200	\$1,800	\$2,100	\$300	\$25	\$75	\$65	\$0
GSCI 275	GIS Proj Mgmt & Implementation	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60	\$125	\$0
GSCI 290	GIS Internship	2 to 4	\$240-\$480	\$480-\$960	\$720-\$1,440	\$840-\$1,680	\$120-\$240	\$25	\$30-\$60		

^{*}Senior Citizen Tuition: MI residents living outside the LCC district qualify for a reduced rate of \$120 per billing hour. ^Refunds based on Teaching Period dates. Tuition and Fees are subject to change by action of the LCC Board of Trustees.



2025 – 2026 Tuition and Course Fee Schedule

					Tuition^					Cours	e Fees
Course Code	Course Title	Bill Hrs.	District Resident (\$120)	In-State (\$240)	Out-of- State (\$360)	Int'l Student (\$420)	Senior Citizen (\$60)*	Registration Fee^ (Per semester, not course)	Student Support^ (Bill hrs x \$15)	Refundable	Non- Refundable
HERT 110	Equipment Introduction	5	\$600	\$1,200	\$1,800	\$2,100	\$300	\$25	\$75	\$1,060	\$0
HERT 120	Heavy Engine Rebuild	6	\$720	\$1,440	\$2,160	\$2,520	\$360	\$25	\$90	\$1,740	\$0
HERT 125	Heavy Equipment Electronics	5	\$600	\$1,200	\$1,800	\$2,100	\$300	\$25	\$75	\$1,225	\$0
HERT 130	Equipment Hydraulics	6	\$720	\$1,440	\$2,160	\$2,520	\$360	\$25	\$90	\$1,374	\$0
HERT 135	Diesel Fuel Systems	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60	\$1,024	\$0
HERT 140	Equipment Powertrain	5	\$600	\$1,200	\$1,800	\$2,100	\$300	\$25	\$75	\$1,357	\$0
HERT 145	Equipment Service Writing	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60	\$920	\$0
HERT 160	Equipment HVAC/Cab Controls	6	\$720	\$1,440	\$2,160	\$2,520	\$360	\$25	\$90	\$743	\$60
HERT 210	Heavy Equipment Internship	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45		
HIST 150	African-American History	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60		
HIST 210	Historical Methods and Skills	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60		
HIST 211	U.S. History to 1877	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60		
HIST 212	U.S. History: 1877 to Present	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60		
HIST 214	African History	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60		
HIST 215	World History to 1500	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60		
HIST 216	World History since 1500	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60		
HIST 220	Michigan History	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60		
HIST 235	Modern European History	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60		
HIST 240	Latin American History	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60		

^{*}Senior Citizen Tuition: MI residents living outside the LCC district qualify for a reduced rate of \$120 per billing hour. ^Refunds based on Teaching Period dates. Tuition and Fees are subject to change by action of the LCC Board of Trustees.



2025 – 2026 Tuition and Course Fee Schedule

					Tuition^					Cours	e Fees
Course Code	Course Title	Bill Hrs.	District Resident (\$120)	In-State (\$240)	Out-of- State (\$360)	Int'l Student (\$420)	Senior Citizen (\$60)*	Registration Fee^ (Per semester, not course)	Student Support^ (Bill hrs x \$15)	Refundable	Non- Refundable
HIST 250	History of Modern Asia	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60		
HIST 295	Independent Study in History	1 to 4	\$120-\$480	\$240-\$960	\$360-\$1,440	\$420-\$1,680	\$60-\$240	\$25	\$15-\$60		
HONR 151	Honors Colloquy I	1	\$120	\$240	\$360	\$420	\$60	\$25	\$15		
HONR 152	Honors Colloquy II	1	\$120	\$240	\$360	\$420	\$60	\$25	\$15		
HONR 155	Community Service Practicum I	1	\$120	\$240	\$360	\$420	\$60	\$25	\$15		
HONR 156	Community Service Practicum II	1	\$120	\$240	\$360	\$420	\$60	\$25	\$15		
HSAC 090	ERESA Heating & Air Cond	0	\$0	\$0	\$0	\$0	\$0	\$25	\$0		
HSAH 080	CCRESA PreAllied HIth Car Prep	0	\$0	\$0	\$0	\$0	\$0	\$25	\$0		
HSAH 090	ERESA Health Occupations I	0	\$0	\$0	\$0	\$0	\$0	\$25	\$0		
HSAH 092	ERESA Health Occupations II	0	\$0	\$0	\$0	\$0	\$ 0	\$25	\$0		
HSAM 080	CCRESA Auto Service	0	\$0	\$0	\$0	\$0	\$0	\$25	\$0		
HSAM 090	ERESA Auto Mechanics	0	\$0	\$0	\$0	\$0	\$0	\$25	\$0		
HSAM 091	ERESA Automotive Technology II	0	\$0	\$0	\$0	\$0	\$ 0	\$25	\$0		
HSAT 090	ERESA Architectural Drafting	0	\$0	\$0	\$0	\$0	\$ 0	\$25	\$0		
HSBT 090	ERESA Building Trades	0	\$0	\$0	\$0	\$0	\$0	\$25	\$0		
HSCJ 090	ERESA Crim Justc/Public Svc I	0	\$0	\$0	\$0	\$0	\$0	\$25	\$0		
HSCJ 092	ERESA Crim Just/Law Enforce II	0	\$0	\$0	\$0	\$0	\$0	\$25	\$0		
HSCS 080	CCRESA Computer Support I	0	\$0	\$0	\$0	\$0	\$0	\$25	\$0		
HSCT 090	ERESA Construction Technology	0	\$0	\$0	\$0	\$0	\$0	\$25	\$0		

^{*}Senior Citizen Tuition: MI residents living outside the LCC district qualify for a reduced rate of \$120 per billing hour. ^Refunds based on Teaching Period dates. Tuition and Fees are subject to change by action of the LCC Board of Trustees.



2025 – 2026 Tuition and Course Fee Schedule

					Tuition^					Cours	e Fees
Course Code	Course Title	Bill Hrs.	District Resident (\$120)	In-State (\$240)	Out-of- State (\$360)	Int'l Student (\$420)	Senior Citizen (\$60)*	Registration Fee^ (Per semester, not course)	Student Support^ (Bill hrs x \$15)	Refundable	Non- Refundable
HSDM 090	ERESA Design and Machining	0	\$0	\$0	\$0	\$0	\$0	\$25	\$0		
HSDM 091	ERESA Advanced Manufacturing	0	\$0	\$0	\$0	\$0	\$0	\$25	\$0		
HSDM 092	ERESA Machine Tool Operations	0	\$0	\$0	\$0	\$0	\$0	\$25	\$0		
HSDT 090	ERESA Industrial Drafting	0	\$0	\$0	\$0	\$0	\$0	\$25	\$0		
HSKN 090	ERESA Sports Med Foundations	0	\$0	\$0	\$0	\$0	\$0	\$25	\$0		
HSLE 090	ERESA Law Enforcement	0	\$0	\$0	\$0	\$0	\$0	\$25	\$0		
HSMA 090	ERESA Mechatronics/Automation	0	\$0	\$0	\$0	\$0	\$0	\$25	\$0		
HSMT 090	ERESA Manufacturing Tech	0	\$0	\$0	\$0	\$0	\$0	\$25	\$0		
HSWD 090	ERESA Comp Graphic/Web Dsgn	0	\$0	\$0	\$0	\$0	\$0	\$25	\$0		
HSWT 090	ERESA Welding/Cutting	0	\$0	\$0	\$0	\$0	\$0	\$25	\$0		
HSWT 092	ERESA Welding/Cutting II	0	\$0	\$0	\$0	\$0	\$0	\$25	\$0		
HUMS 140	Art of Being Human	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60		
HUMS 160	Mythology	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60		
HUMS 215	American Cultural Experience	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60		
HUMS 223	The Western World to 1500	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60		
HUMS 224	The Western World since 1500	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60		
HUSE 100	Introduction to Human Services	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45	\$65	\$0
HUSE 105	Personal Dynamics/Interviewing	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60	\$65	\$0
HUSE 110	Child Abuse and Neglect	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45	\$65	\$0

^{*}Senior Citizen Tuition: MI residents living outside the LCC district qualify for a reduced rate of \$120 per billing hour. ^Refunds based on Teaching Period dates. Tuition and Fees are subject to change by action of the LCC Board of Trustees.



2025 – 2026 Tuition and Course Fee Schedule

					Tuition^					Cours	e Fees
Course Code	Course Title	Bill Hrs.	District Resident (\$120)	In-State (\$240)	Out-of- State (\$360)	Int'l Student (\$420)	Senior Citizen (\$60)*	Registration Fee^ (Per semester, not course)	Student Support^ (Bill hrs x \$15)	Refundable	Non- Refundable
HUSE 242	The Family: Addiction/Violence	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45	\$68	\$0
HUSE 282	Human Services Practicum	5	\$600	\$1,200	\$1,800	\$2,100	\$300	\$25	\$75	\$93	\$0
HVAC 100	Fundamentals of HVAC	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45	\$118	\$4
HVAC 110	Applied Electricity I	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60	\$139	\$4
HVAC 111	Applied Electricity II	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60	\$133	\$4
HVAC 113	HVAC/R Piping	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60	\$170	\$5
HVAC 115	Sheet Metal Fab & Installation	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45	\$142	\$4
HVAC 120	Heating I	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60	\$174	\$4
HVAC 130	Air Conditioning I	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60	\$213	\$34
HVAC 140	Residential Energy	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60	\$55	\$15
HVAC 201	Mechanical Code	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60	\$90	\$6
HVAC 220	Heating II	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60	\$183	\$4
HVAC 221	Introduction to Hydronics	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60	\$163	\$4
HVAC 230	Air Conditioning II	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60	\$208	\$4
HVAC 231	Heat Pump	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60	\$183	\$4
HVAC 240	Refrigeration I	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60	\$223	\$4
HVAC 241	Refrigeration II	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60	\$208	\$4
HVAC 251	Fund of Direct Digital Control	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60	\$213	\$5
HVAC 290	HVAC Internship	2 to 4	\$240-\$480	\$480-\$960	\$720-\$1,440	\$840-\$1,680	\$120-\$240	\$25	\$30-\$60		

^{*}Senior Citizen Tuition: MI residents living outside the LCC district qualify for a reduced rate of \$120 per billing hour. ^Refunds based on Teaching Period dates. Tuition and Fees are subject to change by action of the LCC Board of Trustees.



2025 – 2026 Tuition and Course Fee Schedule

					Tuition^					Cours	e Fees
Course Code	Course Title	Bill Hrs.	District Resident (\$120)	In-State (\$240)	Out-of- State (\$360)	Int'l Student (\$420)	Senior Citizen (\$60)*	Registration Fee^ (Per semester, not course)	Student Support^ (Bill hrs x \$15)	Refundable	Non- Refundable
IDMS 150	Sonographic Directed Study	1 to 8	\$120-\$960	\$240-\$1,920	\$360-\$2,880	\$420-\$3,360	\$60-\$480	\$25	\$15-\$120		
IDMS 170	Intro to Ultrasound Knobology	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45	\$532	\$127
IDMS 200	Sonographic Introduction	2	\$240	\$480	\$720	\$840	\$120	\$25	\$30	\$161	\$0
IDMS 201	General Sonography I: Abdomen	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60	\$161	\$127
IDMS 202	OB/GYN Sonography I	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60	\$161	\$127
IDMS 234	Sonographic Physics	2	\$240	\$480	\$720	\$840	\$120	\$25	\$30	\$161	\$0
IDMS 245	Sonographic Instrumentation	2	\$240	\$480	\$720	\$840	\$120	\$25	\$30	\$161	\$0
IDMS 250	Vascular Technology I	6	\$720	\$1,440	\$2,160	\$2,520	\$360	\$25	\$90	\$171	\$318
IDMS 251	Vascular Technology II	6	\$720	\$1,440	\$2,160	\$2,520	\$360	\$25	\$90	\$161	\$0
IDMS 255	Vascular Scan Lab I	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60	\$537	\$318
IDMS 256	Vascular Scan Lab II	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60	\$552	\$0
IDMS 265	General Sonography II	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60	\$161	\$0
IDMS 266	OB/GYN Sonography II	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60	\$161	\$0
IDMS 270	Sonographic Positioning I	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60	\$800	\$127
IDMS 271	Sonographic Positioning II	2	\$240	\$480	\$720	\$840	\$120	\$25	\$30	\$577	\$127
IDMS 280	Clinical Experience I	6	\$720	\$1,440	\$2,160	\$2,520	\$360	\$25	\$90	\$927	\$100
IDMS 281	Clinical Experience II	8	\$960	\$1,920	\$2,880	\$3,360	\$480	\$25	\$120	\$929	\$0
IDMS 282	Clinical Experience III	7.5	\$900	\$1,800	\$2,700	\$3,150	\$450	\$25	\$113	\$1,029	\$0
INSU 105	Intro to Risk Management	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45		

^{*}Senior Citizen Tuition: MI residents living outside the LCC district qualify for a reduced rate of \$120 per billing hour. ^Refunds based on Teaching Period dates. Tuition and Fees are subject to change by action of the LCC Board of Trustees.



2025 – 2026 Tuition and Course Fee Schedule

					Tuition^					Cours	e Fees
Course Code	Course Title	Bill Hrs.	District Resident (\$120)	In-State (\$240)	Out-of- State (\$360)	Int'l Student (\$420)	Senior Citizen (\$60)*	Registration Fee^ (Per semester, not course)	Student Support^ (Bill hrs x \$15)	Refundable	Non- Refundable
INSU 110	Personal Insurance	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45		
INSU 125	Commercial Insurance	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45		
INSU 175	Intro to Financial Advising	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45		
INSU 250	Claims and Underwriting	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45		
INSU 285	Insurance Agency Operations	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45		
INSU 295	Insurance Internship	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45		
IRXT 105	Introduction to Imaging	2	\$240	\$480	\$720	\$840	\$120	\$25	\$30	\$202	\$85
IRXT 111	Radiographic Positioning I	6	\$720	\$1,440	\$2,160	\$2,520	\$360	\$25	\$90	\$472	\$5
IRXT 112	Radiographic Positioning II	6	\$720	\$1,440	\$2,160	\$2,520	\$360	\$25	\$90	\$472	\$5
IRXT 116	Patient Care in Radiography	2.5	\$300	\$600	\$900	\$1,050	\$150	\$25	\$38	\$200	\$40
IRXT 123	Radiographic Independent Study	1 to 7	\$120-\$840	\$240-\$1,680	\$360-\$2,520	\$420-\$2,940	\$60-\$420	\$25	\$15-\$105		
IRXT 140	Image Analysis	2	\$240	\$480	\$720	\$840	\$120	\$25	\$30	\$250	\$0
IRXT 144	Digital Imaging and Exposure	2	\$240	\$480	\$720	\$840	\$120	\$25	\$30	\$200	\$0
IRXT 170	Clinical Practice I	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60	\$398	\$0
IRXT 172	Clinical Practice II	6	\$720	\$1,440	\$2,160	\$2,520	\$360	\$25	\$90	\$388	\$0
IRXT 200	Intro to Radiologic Pathology	2	\$240	\$480	\$720	\$840	\$120	\$25	\$30	\$200	\$0
IRXT 214	Comprehensive Experience I	6	\$720	\$1,440	\$2,160	\$2,520	\$360	\$25	\$90	\$463	\$0
IRXT 215	Comprehensive Experience II	6	\$720	\$1,440	\$2,160	\$2,520	\$360	\$25	\$90	\$388	\$0
IRXT 222	Radiobiology and Protection	2	\$240	\$480	\$720	\$840	\$120	\$25	\$30	\$200	\$0

^{*}Senior Citizen Tuition: MI residents living outside the LCC district qualify for a reduced rate of \$120 per billing hour. ^Refunds based on Teaching Period dates. Tuition and Fees are subject to change by action of the LCC Board of Trustees.



2025 – 2026 Tuition and Course Fee Schedule

					Tuition^					Cours	e Fees
Course Code	Course Title	Bill Hrs.	District Resident (\$120)	In-State (\$240)	Out-of- State (\$360)	Int'l Student (\$420)	Senior Citizen (\$60)*	Registration Fee^ (Per semester, not course)	Student Support^ (Bill hrs x \$15)	Refundable	Non- Refundable
IRXT 224	Radiologic Physics	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60	\$200	\$0
IRXT 280	Radiologic Tech Board Review	2	\$240	\$480	\$720	\$840	\$120	\$25	\$30	\$200	\$200
IRXT 295	Radiologic Tech Special Topics	0.25 to 11	\$30-\$1,320	\$60-2,640	\$90-3,960	\$105-\$4,620	\$15-\$660	\$25	\$3.75-\$165		
ISCI 121	Physical Science Concepts	6	\$720	\$1,440	\$2,160	\$2,520	\$360	\$25	\$90	\$52	\$0
ISCI 131	Integrated Physical Science	6	\$720	\$1,440	\$2,160	\$2,520	\$360	\$25	\$90	\$53	\$0
ISCI 245	S.T.E.M. Workplace Practices	6	\$720	\$1,440	\$2,160	\$2,520	\$360	\$25	\$90	\$53	\$0
JAPN 121	Elementary Japanese I	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60		
JAPN 122	Elementary Japanese II	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60		
JAPN 201	Intermediate Japanese I	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60		
JAPN 202	Intermediate Japanese II	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60		
JRNL 151	Newswriting and Reporting	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45		
JRNL 254	Opinion Writing	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45		
LABR 200	Intro to Labor Relations	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45		
LABR 204	Employment Law for Managers	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45		
LEAD 110	Leadership Development I	2	\$240	\$480	\$720	\$840	\$120	\$25	\$30		
LEAD 111	Leadership Development II	2	\$240	\$480	\$720	\$840	\$120	\$25	\$30		
LEGL 110	Editing Legal Documents	2	\$240	\$480	\$720	\$840	\$120	\$25	\$30		
LEGL 115	Introduction to Legal Studies	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45		
LEGL 125	Legal Research and Writing I	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45		

^{*}Senior Citizen Tuition: MI residents living outside the LCC district qualify for a reduced rate of \$120 per billing hour. ^Refunds based on Teaching Period dates. Tuition and Fees are subject to change by action of the LCC Board of Trustees.



2025 – 2026 Tuition and Course Fee Schedule

					Tuition^					Cours	e Fees
Course Code	Course Title	Bill Hrs.	District Resident (\$120)	In-State (\$240)	Out-of- State (\$360)	Int'l Student (\$420)	Senior Citizen (\$60)*	Registration Fee^ (Per semester, not course)	Student Support^ (Bill hrs x \$15)	Refundable	Non- Refundable
LEGL 160	Critical Thinking in Law	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45		
LEGL 207	eDiscovery	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45		
LEGL 211	Tort Law	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45		
LEGL 212	Litigation Procedures	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45		
LEGL 215	Business Law-Basic Principles	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45		
LEGL 216	Commercial Transactions	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45		
LEGL 217	Business Organizations	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45		
LEGL 218	Litigation Specialties	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45		
LEGL 219	Adv Busn Law for Acct Majors	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60		
LEGL 222	Probate Law and Procedure	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45		
LEGL 223	Domestic Relations	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45		
LEGL 225	Legal Research and Writing II	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45		
LEGL 228	Computer Appl for the Law Ofc	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45		
LEGL 229	Immigration Law	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45		
LEGL 251	LegalStudies Independent Study	1 to 3	\$120-\$360	\$240-\$720	\$360-\$1,080	\$420-\$1,260	\$60-\$180	\$25	\$15-\$45		
LEGL 270	Paralegal Certification Prep	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45	\$225	\$0
LEGL 280	Legal Studies Internship	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45		
MATH 095	Support for MATH115	2	\$240	\$480	\$720	\$840	\$120	\$25	\$30		
MATH 097	Support for MATH119 or STAT170	2	\$240	\$480	\$720	\$840	\$120	\$25	\$30		

^{*}Senior Citizen Tuition: MI residents living outside the LCC district qualify for a reduced rate of \$120 per billing hour. ^Refunds based on Teaching Period dates. Tuition and Fees are subject to change by action of the LCC Board of Trustees.



2025 – 2026 Tuition and Course Fee Schedule

					Tuition^					Cours	e Fees
Course Code	Course Title	Bill Hrs.	District Resident (\$120)	In-State (\$240)	Out-of- State (\$360)	Int'l Student (\$420)	Senior Citizen (\$60)*	Registration Fee^ (Per semester, not course)	Student Support^ (Bill hrs x \$15)	Refundable	Non- Refundable
MATH 098	Support for MATH120	2	\$240	\$480	\$720	\$840	\$120	\$25	\$30		
MATH 114	Technical Math I	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60		
MATH 115	Technical Mathematics	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60		
MATH 119	Math - Applications for Living	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60		
MATH 120	College Algebra	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60		
MATH 126	Precalculus	5	\$600	\$1,200	\$1,800	\$2,100	\$300	\$25	\$75		
MATH 141	Calculus with Applications	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60	\$25	\$0
MATH 151	Calculus I	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60		
MATH 152	Calculus II	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60		
MATH 201	Math for Elementary Teachers I	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60		
MATH 253	Calculus III	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60		
MATH 254	Intro to Differential Equation	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60		
MATH 260	Linear Algebra	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60		
MCHU 000	MACRAO Humanities	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60		
MCSM 000	MACRAO Science & Math	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60		
MCSS 000	MACRAO Social Science	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60		
MEDA 110A	Intro MA Med Terms & Patho I	2.5	\$300	\$600	\$900	\$1,050	\$150	\$25	\$38	\$83	\$0
MEDA 110B	Intro MA Med Terms & Patho II	2.5	\$300	\$600	\$900	\$1,050	\$150	\$25	\$38	\$83	\$0
MEDA 126A	MA Administrative Skills I	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45	\$135	\$0

^{*}Senior Citizen Tuition: MI residents living outside the LCC district qualify for a reduced rate of \$120 per billing hour. ^Refunds based on Teaching Period dates. Tuition and Fees are subject to change by action of the LCC Board of Trustees.



2025 – 2026 Tuition and Course Fee Schedule

					Tuition^					Cours	e Fees
Course Code	Course Title	Bill Hrs.	District Resident (\$120)	In-State (\$240)	Out-of- State (\$360)	Int'l Student (\$420)	Senior Citizen (\$60)*	Registration Fee^ (Per semester, not course)	Student Support^ (Bill hrs x \$15)	Refundable	Non- Refundable
MEDA 126B	MA Administrative Skills II	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45	\$135	\$0
MEDA 135	MA Pharmacology & Med Math	2	\$240	\$480	\$720	\$840	\$120	\$25	\$30	\$165	\$0
MEDA 145	Legal & Ethical Concepts	2	\$240	\$480	\$720	\$840	\$120	\$25	\$30	\$165	\$0
MEDA 156A	MA Clinical Procedures IA	5.5	\$660	\$1,320	\$1,980	\$2,310	\$330	\$25	\$83	\$321	\$0
MEDA 156B	MA Clinical Procedures IB	5.5	\$660	\$1,320	\$1,980	\$2,310	\$330	\$25	\$83	\$321	\$0
MEDA 166	MA Clinical Procedures II	7	\$840	\$1,680	\$2,520	\$2,940	\$420	\$25	\$105	\$357	\$0
MEDA 175	MA Certification Review	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45	\$165	\$0
MEDA 177A	MA Practicum Immersion I	1	\$120	\$240	\$360	\$420	\$60	\$25	\$15	\$173	\$0
MEDA 177B	MA Practicum Immersion II	2	\$240	\$480	\$720	\$840	\$120	\$25	\$30	\$173	\$0
METD 100	Basic Mechanical Drafting	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60	\$105	\$0
METD 105	PC Applications for Technology	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60	\$90	\$0
METD 110	Mechanical CAD Drafting I	6	\$720	\$1,440	\$2,160	\$2,520	\$360	\$25	\$90	\$135	\$0
METD 111	Mechanical CAD Drafting II	6	\$720	\$1,440	\$2,160	\$2,520	\$360	\$25	\$90	\$115	\$0
METD 130	Geometric Dimension/Tolerance	6	\$720	\$1,440	\$2,160	\$2,520	\$360	\$25	\$90	\$110	\$0
METD 150	Industrial Blueprint Reading	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45	\$95	\$0
METD 170	Special Topics/Eng & Design	0.25 to 11	\$30-\$1,320	\$60-2,640	\$90-3,960	\$105-\$4,620	\$15-\$660	\$25	\$3.75-\$165		
METD 220	Basic Unigraphics/NX	6	\$720	\$1,440	\$2,160	\$2,520	\$360	\$25	\$90	\$155	\$0
METD 221	Advanced Unigraphics/NX	6	\$720	\$1,440	\$2,160	\$2,520	\$360	\$25	\$90	\$126	\$0
METD 240	Basic NX Machining	5	\$600	\$1,200	\$1,800	\$2,100	\$300	\$25	\$75	\$185	\$0

^{*}Senior Citizen Tuition: MI residents living outside the LCC district qualify for a reduced rate of \$120 per billing hour. ^Refunds based on Teaching Period dates. Tuition and Fees are subject to change by action of the LCC Board of Trustees.



2025 – 2026 Tuition and Course Fee Schedule

					Tuition^					Cours	se Fees
Course Code	Course Title	Bill Hrs.	District Resident (\$120)	In-State (\$240)	Out-of- State (\$360)	Int'l Student (\$420)	Senior Citizen (\$60)*	Registration Fee^ (Per semester, not course)	Student Support^ (Bill hrs x \$15)	Refundable	Non- Refundable
METD 250	Detailing Assembly Drawings	6	\$720	\$1,440	\$2,160	\$2,520	\$360	\$25	\$90	\$115	\$0
METD 265	Basic CAD FEA Simulation	6	\$720	\$1,440	\$2,160	\$2,520	\$360	\$25	\$90	\$120	\$0
METD 295	Engineering/Design Project Lab	1 to 4	\$120-\$480	\$240-\$960	\$360-\$1,440	\$420-\$1,680	\$60-\$240	\$25	\$15-\$60		
METM 100	Manufacturing Processes	4.5	\$540	\$1,080	\$1,620	\$1,890	\$270	\$25	\$68	\$125	\$0
METM 108	Machine Tool Operations	6	\$720	\$1,440	\$2,160	\$2,520	\$360	\$25	\$90	\$213	\$0
METM 112	Introduction to CNC Machining	6	\$720	\$1,440	\$2,160	\$2,520	\$360	\$25	\$90	\$248	\$0
METM 150	Advanced CNC Machining	6	\$720	\$1,440	\$2,160	\$2,520	\$360	\$25	\$90	\$412	\$0
METM 170	Special Topics/Precision Mach	0.25 to 11	\$30-\$1,320	\$60-2,640	\$90-3,960	\$105-\$4,620	\$15-\$660	\$25	\$3.75-\$165		
METM 171	Special Topics/Machining	0.25 to 11	\$30-\$1,320	\$60-2,640	\$90-3,960	\$105-\$4,620	\$15-\$660	\$25	\$3.75-\$165		
METM 190	Metallurgy and Heat Treatment	6	\$720	\$1,440	\$2,160	\$2,520	\$360	\$25	\$90	\$385	\$0
METM 195	Quality/Metrology/Inspection	6	\$720	\$1,440	\$2,160	\$2,520	\$360	\$25	\$90	\$228	\$0
METM 220	Basic Mastercam	6	\$720	\$1,440	\$2,160	\$2,520	\$360	\$25	\$90	\$428	\$0
METM 221	Advanced Mastercam	6	\$720	\$1,440	\$2,160	\$2,520	\$360	\$25	\$90	\$495	\$0
METM 295	Precision Machine Project Lab	1 to 8	\$120-\$960	\$240-\$1,920	\$360-\$2,880	\$420-\$3,360	\$60-\$480	\$25	\$15-\$120		
METS 110	Mechanical Power Transmissions	6	\$720	\$1,440	\$2,160	\$2,520	\$360	\$25	\$90	\$422	\$0
METS 115	Intro to Mechanical Systems	6	\$720	\$1,440	\$2,160	\$2,520	\$360	\$25	\$90	\$352	\$0
METS 120	Industrial Pneumatics	6	\$720	\$1,440	\$2,160	\$2,520	\$360	\$25	\$90	\$387	\$0
METS 125	Intro to Hydraulics/Pneumatics	6	\$720	\$1,440	\$2,160	\$2,520	\$360	\$25	\$90	\$328	\$0
METS 130	Industrial Hydraulics	6	\$720	\$1,440	\$2,160	\$2,520	\$360	\$25	\$90	\$378	\$0

^{*}Senior Citizen Tuition: MI residents living outside the LCC district qualify for a reduced rate of \$120 per billing hour. ^Refunds based on Teaching Period dates. Tuition and Fees are subject to change by action of the LCC Board of Trustees.



2025 – 2026 Tuition and Course Fee Schedule

					Tuition^					Cours	se Fees
Course Code	Course Title	Bill Hrs.	District Resident (\$120)	In-State (\$240)	Out-of- State (\$360)	Int'l Student (\$420)	Senior Citizen (\$60)*	Registration Fee^ (Per semester, not course)	Student Support^ (Bill hrs x \$15)	Refundable	Non- Refundable
METS 140	Rigging	4.5	\$540	\$1,080	\$1,620	\$1,890	\$270	\$25	\$68	\$140	\$25
METS 145	Automated Systems	4.5	\$540	\$1,080	\$1,620	\$1,890	\$270	\$25	\$68	\$357	\$0
METS 160	Introduction to Robotics	4.5	\$540	\$1,080	\$1,620	\$1,890	\$270	\$25	\$68	\$357	\$0
METS 161	Intro to FANUC Robotics	4.5	\$540	\$1,080	\$1,620	\$1,890	\$270	\$25	\$68	\$357	\$0
METS 162	Intro to ABB Robotics	4.5	\$540	\$1,080	\$1,620	\$1,890	\$270	\$25	\$68	\$357	\$0
METS 170	Special Topics/Mechanical Sys	0.25 to 11	\$30-\$1,320	\$60-2,640	\$90-3,960	\$105-\$4,620	\$15-\$660	\$25	\$3.75-\$165		
METS 210	Lubrication and Bearings	6	\$720	\$1,440	\$2,160	\$2,520	\$360	\$25	\$90	\$412	\$0
METS 250	Gen. Prevent/Predictive Maint	4.5	\$540	\$1,080	\$1,620	\$1,890	\$270	\$25	\$68	\$190	\$100
METS 260	Advanced Robotics Capstone	4.5	\$540	\$1,080	\$1,620	\$1,890	\$270	\$25	\$68	\$397	\$20
METS 290	Manufacturing Internship	2 to 4	\$240-\$480	\$480-\$960	\$720-\$1,440	\$840-\$1,680	\$120-\$240	\$25	\$30-\$60		
METS 295	Mechanical Systems Project Lab	1 to 4	\$120-\$480	\$240-\$960	\$360-\$1,440	\$420-\$1,680	\$60-\$240	\$25	\$15-\$60		
MGMT 150	Managing Customer Relations	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45		
MGMT 200	Creative Thinking for Business	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45		
MGMT 201	Time Management for Business	1	\$120	\$240	\$360	\$420	\$60	\$25	\$15		
MGMT 202	Managing Difficult People	1	\$120	\$240	\$360	\$420	\$60	\$25	\$15		
MGMT 223	Supervisory Skills	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45		
MGMT 224	Human Resource Management	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45	\$137	\$0
MGMT 225	Principles of Mgmt/Leadership	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45	\$39	\$0
MGMT 227	Training/Development for Busn	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45		

^{*}Senior Citizen Tuition: MI residents living outside the LCC district qualify for a reduced rate of \$120 per billing hour. ^Refunds based on Teaching Period dates. Tuition and Fees are subject to change by action of the LCC Board of Trustees.



2025 – 2026 Tuition and Course Fee Schedule

					Tuition^					Cours	e Fees
Course Code	Course Title	Bill Hrs.	District Resident (\$120)	In-State (\$240)	Out-of- State (\$360)	Int'l Student (\$420)	Senior Citizen (\$60)*	Registration Fee^ (Per semester, not course)	Student Support^ (Bill hrs x \$15)	Refundable	Non- Refundable
MGMT 228	Organization Behavior	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45		
MGMT 229	Compensation Management	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45		
MGMT 231	Developing and Leading Teams	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45		
MGMT 234	Diversity in the Workplace	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45		
MGMT 237	Managing/Continual Improvement	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45		
MGMT 280	Mgmt/Leadership Internship	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45		
MGMT 300	Leading for Possibility	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45		
MGMT 304	Organization Development	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45		
MGMT 329	Advanced Mgmt Communication	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45		
MGMT 332	Ethics for Managers & Leaders	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45		
MGMT 335	Managerial Statistics	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45		
MGMT 337	Strategic Human Resource Mgmt	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45	\$137	\$0
MGMT 345	Strategic Management	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45		
MILS 110	Introduction to the Army	1	\$120	\$240	\$360	\$420	\$60	\$25	\$15		
MILS 111	Introduction to the Army-Lab	2	\$240	\$480	\$720	\$840	\$120	\$25	\$30		
MILS 120	Foundations of Army Leadership	1	\$120	\$240	\$360	\$420	\$60	\$25	\$15		
MILS 121	Fndtion of Army Leadership-Lab	2	\$240	\$480	\$720	\$840	\$120	\$25	\$30		
MILS 210	Army Doctrine & Team Develpmnt	2	\$240	\$480	\$720	\$840	\$120	\$25	\$30		
MILS 211	Army Doctrine/Team Develop-Lab	2	\$240	\$480	\$720	\$840	\$120	\$25	\$30		

^{*}Senior Citizen Tuition: MI residents living outside the LCC district qualify for a reduced rate of \$120 per billing hour. ^Refunds based on Teaching Period dates. Tuition and Fees are subject to change by action of the LCC Board of Trustees.



2025 – 2026 Tuition and Course Fee Schedule

					Tuition^					Cours	e Fees
Course Code	Course Title	Bill Hrs.	District Resident (\$120)	In-State (\$240)	Out-of- State (\$360)	Int'l Student (\$420)	Senior Citizen (\$60)*	Registration Fee^ (Per semester, not course)	Student Support^ (Bill hrs x \$15)	Refundable	Non- Refundable
MILS 220	Mil Leadrshp & Decision Making	2	\$240	\$480	\$720	\$840	\$120	\$25	\$30		
MILS 221	Mil Ldrshp/Decision Making-Lab	2	\$240	\$480	\$720	\$840	\$120	\$25	\$30		
MKTG 119	Mktg/Manage Your Profess Image	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45		
MKTG 120	Sales	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45		
MKTG 130	Retailing	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45		
MKTG 140	Principles of Advertising	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45		
MKTG 200	Principles of Marketing	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45		
MKTG 204	Marketing Research	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45		
MKTG 210	Intro to Digital Marketing	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45		
MKTG 229	Public Relations	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45		
MKTG 235	Marketing Internship	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45		
MRIT 200	Professional Prospectus	0	\$0	\$0	\$0	\$0	\$0	\$25	\$0		
MRIT 201	Computer Apps/Medical Imaging	0	\$0	\$0	\$0	\$0	\$0	\$25	\$0		
MRIT 220	MR Physics I	0	\$0	\$0	\$0	\$0	\$0	\$25	\$0		
MRIT 222	MR Physics II	0	\$0	\$0	\$0	\$0	\$0	\$25	\$0		
MRIT 229	Applied Sectional Anatomy	0	\$0	\$0	\$0	\$0	\$0	\$25	\$0		
MRIT 230	MR Procedures and Pathophys I	0	\$0	\$0	\$0	\$0	\$0	\$25	\$0		
MRIT 232	MR Procedures and Pathophys II	0	\$0	\$0	\$0	\$0	\$0	\$25	\$0		
MRIT 240	MRI Image Analysis	0	\$0	\$0	\$0	\$0	\$0	\$25	\$0		

^{*}Senior Citizen Tuition: MI residents living outside the LCC district qualify for a reduced rate of \$120 per billing hour. ^Refunds based on Teaching Period dates. Tuition and Fees are subject to change by action of the LCC Board of Trustees.



2025 – 2026 Tuition and Course Fee Schedule

					Tuition^					Cours	e Fees
Course Code	Course Title	Bill Hrs.	District Resident (\$120)	In-State (\$240)	Out-of- State (\$360)	Int'l Student (\$420)	Senior Citizen (\$60)*	Registration Fee^ (Per semester, not course)	Student Support^ (Bill hrs x \$15)	Refundable	Non- Refundable
MRIT 260	MRI Pre-Clinical Preparation	0	\$0	\$0	\$0	\$0	\$0	\$25	\$0		
MRIT 261	Clinical Practice I	0	\$0	\$0	\$0	\$0	\$0	\$25	\$0		
MRIT 262	Clinical Practice II	0	\$0	\$0	\$0	\$0	\$0	\$25	\$0		
MRIT 263	Clinical Practice III	0	\$0	\$0	\$0	\$0	\$0	\$25	\$0		
MRIT 295	MRI Certification Exam Prep	0	\$0	\$0	\$0	\$0	\$0	\$25	\$0		
MSGE 110	Massage for Beginners	1	\$120	\$240	\$360	\$420	\$60	\$25	\$15	\$111	\$0
MSGE 131	Massage I	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60	\$223	\$0
MSGE 132A	Anatomy/Physiology Massage I	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60	\$106	\$0
MSGE 132B	Anatomy/Physiology Massage II	2	\$240	\$480	\$720	\$840	\$120	\$25	\$30	\$106	\$0
MSGE 137	Medical Terminology in Massage	2	\$240	\$480	\$720	\$840	\$120	\$25	\$30	\$106	\$0
MSGE 139A	Pathology for Massage I	1	\$120	\$240	\$360	\$420	\$60	\$25	\$15	\$106	\$0
MSGE 139B	Pathology for Massage II	1	\$120	\$240	\$360	\$420	\$60	\$25	\$15	\$106	\$0
MSGE 141	Massage Clinic I	2.5	\$300	\$600	\$900	\$1,050	\$150	\$25	\$38	\$233	\$0
MSGE 151B	Event Massage	1.5	\$180	\$360	\$540	\$630	\$90	\$25	\$23	\$111	\$0
MSGE 151D	Special Populations	1.5	\$180	\$360	\$540	\$630	\$90	\$25	\$23	\$111	\$0
MSGE 170	Massage Directed/Indep Study	0.25 to 7	\$30-\$840	\$60-\$1,680	\$90-\$2,520	\$105-\$2,940	\$15-\$420	\$25	\$3.75-\$105		
MSGE 231	Massage II	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60	\$126	\$0
MSGE 232	Massage III	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60	\$126	\$0
MSGE 241	Massage Clinic II	2.5	\$300	\$600	\$900	\$1,050	\$150	\$25	\$38	\$228	\$0

^{*}Senior Citizen Tuition: MI residents living outside the LCC district qualify for a reduced rate of \$120 per billing hour. ^Refunds based on Teaching Period dates. Tuition and Fees are subject to change by action of the LCC Board of Trustees.



2025 – 2026 Tuition and Course Fee Schedule

					Tuition^					Cours	e Fees
Course Code	Course Title	Bill Hrs.	District Resident (\$120)	In-State (\$240)	Out-of- State (\$360)	Int'l Student (\$420)	Senior Citizen (\$60)*	Registration Fee^ (Per semester, not course)	Student Support^ (Bill hrs x \$15)	Refundable	Non- Refundable
MSGE 242	Massage Clinic III	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45	\$244	\$0
MSGE 254	Busn App for Massage	2	\$240	\$480	\$720	\$840	\$120	\$25	\$30	\$106	\$0
MSGE 256	Clinical Assess for Massage	2	\$240	\$480	\$720	\$840	\$120	\$25	\$30	\$111	\$0
MSGE 258	Career Longevity	2	\$240	\$480	\$720	\$840	\$120	\$25	\$30	\$111	\$0
MTAA 000	MTA English Comp	0	\$0	\$0	\$0	\$0	\$0	\$25	\$0		
MTAB 000	MTA Eng Comp/Comm	0	\$0	\$0	\$0	\$0	\$0	\$25	\$0		
MTAC 000	MTA Hum & Fine Arts	0	\$0	\$0	\$0	\$0	\$0	\$25	\$0		
MTAD 000	MTA Mathematics	0	\$0	\$0	\$0	\$0	\$0	\$25	\$0		
MTAE 000	MTA Natural Science	0	\$0	\$0	\$0	\$0	\$0	\$25	\$0		
MTAF 000	MTA Social Science	0	\$0	\$0	\$0	\$0	\$0	\$25	\$0		
MUSC 101	Vocal Jazz & Pop Ensemble	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45	\$6	\$0
MUSC 106	Private Music Lesson	2	\$240	\$480	\$720	\$840	\$120	\$25	\$30	\$500	\$0
MUSC 108	Concert Choir	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45	\$70	\$0
MUSC 109	Studio Class	1	\$120	\$240	\$360	\$420	\$60	\$25	\$15	\$30	\$0
MUSC 122	Rock Band	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45	\$20	\$0
MUSC 123	Jazz Ensemble	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45	\$70	\$0
MUSC 124	Multi-Instrumental Music Ensem	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45	\$5	\$0
MUSC 134	Live Sound/Event Production	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45	\$60	\$0
MUSC 138	Keyboard Harmony I	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45		

^{*}Senior Citizen Tuition: MI residents living outside the LCC district qualify for a reduced rate of \$120 per billing hour. ^Refunds based on Teaching Period dates. Tuition and Fees are subject to change by action of the LCC Board of Trustees.



2025 – 2026 Tuition and Course Fee Schedule

					Tuition^					Cours	e Fees
Course Code	Course Title	Bill Hrs.	District Resident (\$120)	In-State (\$240)	Out-of- State (\$360)	Int'l Student (\$420)	Senior Citizen (\$60)*	Registration Fee^ (Per semester, not course)	Student Support^ (Bill hrs x \$15)	Refundable	Non- Refundable
MUSC 143	Beginning Piano I - Summer	1	\$120	\$240	\$360	\$420	\$60	\$25	\$15	\$20	\$0
MUSC 144	Beginning Piano I	2	\$240	\$480	\$720	\$840	\$120	\$25	\$30	\$20	\$0
MUSC 145	Beginning Piano II	2	\$240	\$480	\$720	\$840	\$120	\$25	\$30	\$20	\$0
MUSC 157	Applied Lesson I	2	\$240	\$480	\$720	\$840	\$120	\$25	\$30	\$450	\$0
MUSC 158	Applied Lesson II	2	\$240	\$480	\$720	\$840	\$120	\$25	\$30	\$450	\$0
MUSC 163	Aural Skills I	2	\$240	\$480	\$720	\$840	\$120	\$25	\$30		
MUSC 164	Aural Skills II	2	\$240	\$480	\$720	\$840	\$120	\$25	\$30		
MUSC 168	Rudiments of Music	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45		
MUSC 171	Sound Design & Production	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60	\$60	\$0
MUSC 172	Studio Recording	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60	\$80	\$0
MUSC 193	Music Theory I	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60		
MUSC 194	Music Theory II	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60		
MUSC 197	Electronic Music Production	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45	\$60	\$0
MUSC 199	Music Appreciation	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45		
MUSC 237	Musical Theater Performance	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45	\$40	\$0
MUSC 240	Musical Cultures to 1750	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60		
MUSC 241	Musical Cultures 1750-Present	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60		
MUSC 255	Music Business & Management	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45		
MUSC 257	Applied Lesson III	2	\$240	\$480	\$720	\$840	\$120	\$25	\$30	\$450	\$0

^{*}Senior Citizen Tuition: MI residents living outside the LCC district qualify for a reduced rate of \$120 per billing hour. ^Refunds based on Teaching Period dates. Tuition and Fees are subject to change by action of the LCC Board of Trustees.



2025 – 2026 Tuition and Course Fee Schedule

					Tuition^					Cours	e Fees
Course Code	Course Title	Bill Hrs.	District Resident (\$120)	In-State (\$240)	Out-of- State (\$360)	Int'l Student (\$420)	Senior Citizen (\$60)*	Registration Fee^ (Per semester, not course)	Student Support^ (Bill hrs x \$15)	Refundable	Non- Refundable
MUSC 258	Applied Lesson IV	2	\$240	\$480	\$720	\$840	\$120	\$25	\$30	\$450	\$0
MUSC 280	Private Composition	1	\$120	\$240	\$360	\$420	\$60	\$25	\$15	\$280	\$0
MUSC 296	Music Internship	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45		
MUSC 298	Composition and Sound Design	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45	\$60	\$0
NCAS 102	Noncredit Academic Supprt-ENGL	0	\$0	\$0	\$0	\$0	\$0	\$25	\$0		
NCAS 103	Noncredit Academic Supprt-SOCL	0	\$0	\$0	\$0	\$0	\$0	\$25	\$0		
NCAS 104	Noncredit Academic Supprt-PSYC	0	\$0	\$0	\$0	\$0	\$0	\$25	\$0		
NCAS 105	Noncredit Academic Supprt-BUSN	0	\$0	\$0	\$0	\$0	\$0	\$25	\$0		
NCBD 050	Building/Design Special Topics	0	\$0	\$0	\$0	\$0	\$0	\$25	\$0	\$0	\$0
NCCC 101	College Connect	0	\$0	\$0	\$0	\$0	\$0	\$25	\$0		
NCCC 101E	College Connect - English	0	\$0	\$0	\$0	\$0	\$0	\$25	\$0		
NCCC 101M	College Connect - Math	0	\$0	\$0	\$0	\$0	\$0	\$25	\$0		
NCCE 200	Creative Arts	0	\$0	\$0	\$0	\$0	\$0	\$25	\$0	\$0	\$0
NCCE 700	Health and Wellness Seminars	0	\$0	\$0	\$0	\$0	\$0	\$25	\$0	\$0	\$0
NCCT 200	Noncredit Industrial Trades	0	\$0	\$0	\$0	\$0	\$0	\$25	\$0	\$0	\$0
NCCT 600	Noncredit Public Safety Svcs	0	\$0	\$0	\$0	\$0	\$0	\$25	\$0	\$0	\$0
NCCT 800	Noncredit Career Preparation	0	\$0	\$0	\$0	\$0	\$0	\$25	\$0	\$0	\$0
NCEL 030	Low Intermediate Accelerated	0	\$0	\$0	\$0	\$0	\$0	\$25	\$0	\$50	\$0
NCEL 033	Multi-Skills III	0	\$0	\$0	\$0	\$0	\$0	\$25	\$0	\$50	\$0

^{*}Senior Citizen Tuition: MI residents living outside the LCC district qualify for a reduced rate of \$120 per billing hour. ^Refunds based on Teaching Period dates. Tuition and Fees are subject to change by action of the LCC Board of Trustees.



2025 – 2026 Tuition and Course Fee Schedule

					Tuition^					Cours	e Fees
Course Code	Course Title	Bill Hrs.	District Resident (\$120)	In-State (\$240)	Out-of- State (\$360)	Int'l Student (\$420)	Senior Citizen (\$60)*	Registration Fee^ (Per semester, not course)	Student Support^ (Bill hrs x \$15)	Refundable	Non- Refundable
NCEL 034	ESL Combined Skills Level 3	0	\$0	\$0	\$0	\$0	\$0	\$25	\$0	\$700	\$0
NCEL 035	ESL Skills Level 1A - Reading	0	\$0	\$0	\$0	\$0	\$0	\$25	\$0	\$80	\$0
NCEL 097	ESL Listening-Speaking	0	\$0	\$0	\$0	\$0	\$0	\$25	\$0		
NCEL 160	ESOL for Health Careers	0	\$0	\$0	\$0	\$0	\$0	\$25	\$0	\$425	\$0
NCEL 170	ESOL for Business	0	\$0	\$0	\$0	\$0	\$0	\$25	\$0	\$279	\$0
NCHE 102	AHA BLS Provider CPR	0	\$0	\$0	\$0	\$0	\$0	\$25	\$0	\$95	\$0
NCHE 227	Health Special Topics	0	\$0	\$0	\$0	\$0	\$0	\$25	\$0	\$0	\$0
NCJT 100	Non-Credit Software and Tech	0	\$0	\$0	\$0	\$0	\$0	\$25	\$0		
NCJT 200	Business and Management	0	\$0	\$0	\$0	\$0	\$0	\$25	\$0		
NCLD 210	Leadership Practicum I	0	\$0	\$0	\$0	\$0	\$0	\$25	\$0		
NCLD 211	Leadership Practicum II	0	\$0	\$0	\$0	\$0	\$0	\$25	\$0		
NCMA 101	Math Refresher	0	\$0	\$0	\$0	\$0	\$0	\$25	\$0		
NCMA 106	NC - Math Literacy with Review	0	\$0	\$0	\$0	\$0	\$0	\$25	\$0		
NCMA 110	Fundamentals of Mathematics	0	\$0	\$0	\$0	\$0	\$0	\$25	\$0		
NCRW 100	Foundations for Success	0	\$0	\$0	\$0	\$0	\$0	\$25	\$0	\$25	\$0
NCRW 101	Reading and Writing Refresher	0	\$0	\$0	\$0	\$0	\$0	\$25	\$0		
NCSO 001	New Student Orientation	0	\$0	\$0	\$0	\$0	\$0	\$25	\$0		
NDXT 100	Neuroanatomy and Physiology	0	\$0	\$0	\$0	\$0	\$0	\$25	\$0		
NDXT 101	Neurodiagnostic Procedures	0	\$0	\$0	\$0	\$0	\$0	\$25	\$0		

^{*}Senior Citizen Tuition: MI residents living outside the LCC district qualify for a reduced rate of \$120 per billing hour. ^Refunds based on Teaching Period dates. Tuition and Fees are subject to change by action of the LCC Board of Trustees.



2025 – 2026 Tuition and Course Fee Schedule

					Tuition^					Cours	e Fees
Course Code	Course Title	Bill Hrs.	District Resident (\$120)	In-State (\$240)	Out-of- State (\$360)	Int'l Student (\$420)	Senior Citizen (\$60)*	Registration Fee^ (Per semester, not course)	Student Support^ (Bill hrs x \$15)	Refundable	Non- Refundable
NDXT 102	EEG Applications	0	\$0	\$0	\$0	\$0	\$0	\$25	\$0		
NDXT 120	EEG Pre-Clinical Preparation	0	\$0	\$0	\$0	\$0	\$0	\$25	\$0		
NDXT 130	Principles of EEG	0	\$0	\$0	\$0	\$0	\$0	\$25	\$0		
NDXT 131	Electricity Principles/Safety	0	\$0	\$0	\$0	\$0	\$0	\$25	\$0		
NDXT 132	EEG Instrumentation I	0	\$0	\$0	\$0	\$0	\$0	\$25	\$0		
NDXT 200	EEG Procedures & Pathology I	0	\$0	\$0	\$0	\$0	\$0	\$25	\$0		
NDXT 201	EEG Instrumentation II	0	\$0	\$0	\$0	\$0	\$0	\$25	\$0		
NDXT 202	EEG Quality Control	0	\$0	\$0	\$0	\$0	\$0	\$25	\$0		
NDXT 220	EEG Clinical Practice I	0	\$0	\$0	\$0	\$0	\$0	\$25	\$0		
NDXT 221	EEG Clinical Practice II	0	\$0	\$0	\$0	\$0	\$0	\$25	\$0		
NDXT 230	EEG Procedures & Pathology II	0	\$0	\$0	\$0	\$0	\$0	\$25	\$0		
NDXT 231	EEG Procedures & Pathology III	0	\$0	\$0	\$0	\$0	\$0	\$25	\$0		
NDXT 232	EEG Procedures & Pathology IV	0	\$0	\$0	\$0	\$0	\$0	\$25	\$0	\$230	\$50
NURS 101	Nursing Directed Study	0.25 to 6	\$30-\$720	\$60-\$1,440	\$90-\$2,160	\$105-\$2,520	\$15-\$360	\$25	\$3.75-\$90		
NURS 119	Special Topics in Nursing	0.25 to 11	\$30-\$1,320	\$60-2,640	\$90-3,960	\$105-\$4,620	\$15-\$660	\$25	\$3.75-\$165		
NURS 200	Nursing Pharmacology	3.5	\$420	\$840	\$1,260	\$1,470	\$210	\$25	\$53		
NURS 201	Patient-Centered Care	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45	\$211	\$23
NURS 210	Transition to Prof Nursing	10.5	\$1,260	\$2,520	\$3,780	\$4,410	\$630	\$25	\$158	\$1,212	\$943
NURS 211	Intro to Nursing Practice	13.25	\$1,590	\$3,180	\$4,770	\$5,565	\$795	\$25	\$199	\$1,196	\$1,252

^{*}Senior Citizen Tuition: MI residents living outside the LCC district qualify for a reduced rate of \$120 per billing hour. ^Refunds based on Teaching Period dates. Tuition and Fees are subject to change by action of the LCC Board of Trustees.



2025 – 2026 Tuition and Course Fee Schedule

					Tuition^					Cours	e Fees
Course Code	Course Title	Bill Hrs.	District Resident (\$120)	In-State (\$240)	Out-of- State (\$360)	Int'l Student (\$420)	Senior Citizen (\$60)*	Registration Fee^ (Per semester, not course)	Student Support^ (Bill hrs x \$15)	Refundable	Non- Refundable
NURS 212	Concepts of Pharmacology	3.5	\$420	\$840	\$1,260	\$1,470	\$210	\$25	\$53	\$113	\$0
NURS 221	Nursing Practice I	10.75	\$1,290	\$2,580	\$3,870	\$4,515	\$645	\$25	\$161	\$1,106	\$162
NURS 222	Childbearing Families	5.5	\$660	\$1,320	\$1,980	\$2,310	\$330	\$25	\$83	\$676	\$0
NURS 231	Nursing Practice II	10	\$1,200	\$2,400	\$3,600	\$4,200	\$600	\$25	\$150	\$1,022	\$179
NURS 232	Children and Their Families	5.5	\$660	\$1,320	\$1,980	\$2,310	\$330	\$25	\$83	\$663	\$0
NURS 241	Nursing Practice III	11.75	\$1,410	\$2,820	\$4,230	\$4,935	\$705	\$25	\$176	\$1,380	\$75
NURS 242	Professional Practice	2	\$240	\$480	\$720	\$840	\$120	\$25	\$30	\$193	\$0
PARA 200	Paramedic Directed Study	1 to 7	\$120-\$840	\$240-\$1,680	\$360-\$2,520	\$420-\$2,940	\$60-\$420	\$25	\$15-\$105		
PARA 221	Paramedic Medical Trauma I	3.75	\$450	\$900	\$1,350	\$1,575	\$225	\$25	\$56	\$343	\$0
PARA 221A	Paramedic Medical Trauma IA	2	\$240	\$480	\$720	\$840	\$120	\$25	\$30	\$176	\$0
PARA 221B	Paramedic Medical Trauma IB	2	\$240	\$480	\$720	\$840	\$120	\$25	\$30		
PARA 222	Paramedic Medical Trauma II	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60	\$343	\$0
PARA 222A	Paramedic Medical Trauma IIA	1	\$120	\$240	\$360	\$420	\$60	\$25	\$15		
PARA 222B	Paramedic Medical Trauma IIB	1	\$120	\$240	\$360	\$420	\$60	\$25	\$15	\$176	\$0
PARA 222C	Paramedic Medical Trauma IIC	2	\$240	\$480	\$720	\$840	\$120	\$25	\$30	\$168	\$0
PARA 231	Paramedic Cardiology I	2.5	\$300	\$600	\$900	\$1,050	\$150	\$25	\$38	\$339	\$0
PARA 231A	Paramedic Cardiology IA	1	\$120	\$240	\$360	\$420	\$60	\$25	\$15	\$172	\$0
PARA 231B	Paramedic Cardiology IB	1.5	\$180	\$360	\$540	\$630	\$90	\$25	\$23	\$168	\$0
PARA 232	Paramedic Cardiology II	2.5	\$300	\$600	\$900	\$1,050	\$150	\$25	\$38	\$675	\$0

^{*}Senior Citizen Tuition: MI residents living outside the LCC district qualify for a reduced rate of \$120 per billing hour. ^Refunds based on Teaching Period dates. Tuition and Fees are subject to change by action of the LCC Board of Trustees.



2025 – 2026 Tuition and Course Fee Schedule

					Tuition^					Cours	e Fees
Course Code	Course Title	Bill Hrs.	District Resident (\$120)	In-State (\$240)	Out-of- State (\$360)	Int'l Student (\$420)	Senior Citizen (\$60)*	Registration Fee^ (Per semester, not course)	Student Support^ (Bill hrs x \$15)	Refundable	Non- Refundable
PARA 232A	Paramedic Cardiology IIA	1	\$120	\$240	\$360	\$420	\$60	\$25	\$15	\$172	\$0
PARA 232B	Paramedic Cardiology IIB	1.5	\$180	\$360	\$540	\$630	\$90	\$25	\$23	\$168	\$0
PARA 241	Paramedic Pharmacology I	2.5	\$300	\$600	\$900	\$1,050	\$150	\$25	\$38	\$339	\$0
PARA 241A	Paramedic Pharmacology IA	1	\$120	\$240	\$360	\$420	\$60	\$25	\$15		
PARA 241B	Paramedic Pharmacology IB	1.5	\$180	\$360	\$540	\$630	\$90	\$25	\$23	\$172	\$0
PARA 242	Paramedic Pharmacology II	2.5	\$300	\$600	\$900	\$1,050	\$150	\$25	\$38	\$339	\$0
PARA 242A	Paramedic Pharmacology IIA	1	\$120	\$240	\$360	\$420	\$60	\$25	\$15	\$170	\$0
PARA 242B	Paramedic Pharmacology IIB	1.5	\$180	\$360	\$540	\$630	\$90	\$25	\$23	\$170	\$0
PARA 251	Paramedic Skills I	7.5	\$900	\$1,800	\$2,700	\$3,150	\$450	\$25	\$113	\$1,734	\$0
PARA 251A	Paramedic Skills IA	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45		
PARA 251B	Paramedic Skills IB	4.5	\$540	\$1,080	\$1,620	\$1,890	\$270	\$25	\$68	\$943	\$0
PARA 252	Paramedic Skills II	7.5	\$900	\$1,800	\$2,700	\$3,150	\$450	\$25	\$113	\$1,598	\$0
PARA 252A	Paramedic Skills IIA	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45	\$812	\$0
PARA 252B	Paramedic Skills IIB	4.5	\$540	\$1,080	\$1,620	\$1,890	\$270	\$25	\$68	\$812	\$0
PARA 261	Paramedic Clinical I	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60	\$1,592	\$0
PARA 262	Paramedic Clinical II	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60	\$1,663	\$0
PARA 262A	Paramedic Clinical IIA	1	\$120	\$240	\$360	\$420	\$60	\$25	\$15	\$623	\$0
PARA 262B	Paramedic Clinical IIB	1	\$120	\$240	\$360	\$420	\$60	\$25	\$15	\$623	\$0
PARA 262C	Paramedic Clinical IIC	1	\$120	\$240	\$360	\$420	\$60	\$25	\$15	\$555	\$0

^{*}Senior Citizen Tuition: MI residents living outside the LCC district qualify for a reduced rate of \$120 per billing hour. ^Refunds based on Teaching Period dates. Tuition and Fees are subject to change by action of the LCC Board of Trustees.



2025 – 2026 Tuition and Course Fee Schedule

					Tuition^					Cours	e Fees
Course Code	Course Title	Bill Hrs.	District Resident (\$120)	In-State (\$240)	Out-of- State (\$360)	Int'l Student (\$420)	Senior Citizen (\$60)*	Registration Fee^ (Per semester, not course)	Student Support^ (Bill hrs x \$15)	Refundable	Non- Refundable
PARA 263	Paramedic Internship	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60	\$1,329	\$0
PFFT 100	Total Fitness A-Fitness	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45	\$60	\$0
PFFT 101	Total Fitness B-Nutrition	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45	\$60	\$0
PFFT 102	Total Fitness C-Weight Control	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45	\$60	\$0
PFFT 109	Introduction to Fitness	2	\$240	\$480	\$720	\$840	\$120	\$25	\$30	\$60	\$0
PFFT 113	Core Strength & Flexiblty Trng	2	\$240	\$480	\$720	\$840	\$120	\$25	\$30	\$60	\$0
PFFT 114	Police Academy Fitness Trng	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45	\$60	\$0
PFFT 119	Fire Academy Fitness Training	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60	\$60	\$0
PFFT 170	Yoga: Beginning	2	\$240	\$480	\$720	\$840	\$120	\$25	\$30	\$60	\$0
PFFT 181	Lineworker Fitness A	2	\$240	\$480	\$720	\$840	\$120	\$25	\$30	\$60	\$0
PFFT 182	Lineworker Fitness B	2	\$240	\$480	\$720	\$840	\$120	\$25	\$30	\$60	\$0
PFFT 183	Lineworker Fitness C	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60	\$60	\$0
PFHW 120	Health and Wellness for Police	0.5	\$60	\$120	\$180	\$210	\$30	\$25	\$8	\$15	\$0
PFHW 123	Human Nutrition	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45	\$57	\$0
PFHW 163	Healthy Lifestyles	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45	\$61	\$0
PFHW 181	Stress Management	1	\$120	\$240	\$360	\$420	\$60	\$25	\$15	\$51	\$0
PFKN 106	Group Fitness Instructor Prep	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60	\$61	\$0
PFKN 170	Foundations of Kinesiology	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45	\$51	\$0
PFKN 200	Exercise Physiology	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45	\$61	\$0

^{*}Senior Citizen Tuition: MI residents living outside the LCC district qualify for a reduced rate of \$120 per billing hour. ^Refunds based on Teaching Period dates. Tuition and Fees are subject to change by action of the LCC Board of Trustees.



2025 – 2026 Tuition and Course Fee Schedule

					Tuition^					Cours	e Fees
Course Code	Course Title	Bill Hrs.	District Resident (\$120)	In-State (\$240)	Out-of- State (\$360)	Int'l Student (\$420)	Senior Citizen (\$60)*	Registration Fee^ (Per semester, not course)	Student Support^ (Bill hrs x \$15)	Refundable	Non- Refundable
PFKN 201	Exercise Physiology Lab	2	\$240	\$480	\$720	\$840	\$120	\$25	\$30	\$107	\$0
PFKN 205	Sport & Exercise Psychology	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45	\$51	\$0
PFKN 208	Biomechanics	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45	\$61	\$0
PFKN 210	Athletic Training Principles	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60	\$74	\$0
PFKN 250	Measurements in Kinesiology	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60	\$71	\$0
PFKN 260	Growth and Motor Behavior	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45	\$51	\$0
PFKN 270	Personal Trainer Preparation	5	\$600	\$1,200	\$1,800	\$2,100	\$300	\$25	\$75	\$98	\$0
PFKN 280	Kinesiology Internship	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45	\$51	\$0
PFWT 112	Intro to Weight Training	2	\$240	\$480	\$720	\$840	\$120	\$25	\$30	\$60	\$0
PFWT 123	Weight Training I	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45	\$60	\$0
PHIL 101	Introduction to Philosophy	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45		
PHIL 151	Intro to Logic & Critcal Think	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60		
PHIL 152	Introduction to Ethics	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60		
PHIL 211	Philosophy: Ancient & Medieval	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60		
PHIL 212	Philosophy: Modern & Contempry	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60		
PHIL 215	Philosophy of Religion	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45		
PHIL 265	Ethical Issues in Medicine	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45		
PHOT 111	Digital Photography I	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45	\$37	\$0
PHOT 113	Lighting Concepts and Applic	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45	\$12	\$0

^{*}Senior Citizen Tuition: MI residents living outside the LCC district qualify for a reduced rate of \$120 per billing hour. ^Refunds based on Teaching Period dates. Tuition and Fees are subject to change by action of the LCC Board of Trustees.



2025 – 2026 Tuition and Course Fee Schedule

					Tuition^					Cours	se Fees
Course Code	Course Title	Bill Hrs.	District Resident (\$120)	In-State (\$240)	Out-of- State (\$360)	Int'l Student (\$420)	Senior Citizen (\$60)*	Registration Fee^ (Per semester, not course)	Student Support^ (Bill hrs x \$15)	Refundable	Non- Refundable
PHOT 120	Still/Motion Capture & Editing	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45	\$20	\$0
PHOT 200	Content on the Go	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45		
PHYS 120	The Art of Physics	5	\$600	\$1,200	\$1,800	\$2,100	\$300	\$25	\$75	\$52	\$0
PHYS 200	Intro to Applied Physics	5	\$600	\$1,200	\$1,800	\$2,100	\$300	\$25	\$75	\$52	\$0
PHYS 221	Introductory Physics I	6	\$720	\$1,440	\$2,160	\$2,520	\$360	\$25	\$90	\$56	\$0
PHYS 222	Introductory Physics II	6	\$720	\$1,440	\$2,160	\$2,520	\$360	\$25	\$90	\$56	\$0
PHYS 251	Physics I with Calculus	7	\$840	\$1,680	\$2,520	\$2,940	\$420	\$25	\$105	\$57	\$0
PHYS 252	Physics II with Calculus	7	\$840	\$1,680	\$2,520	\$2,940	\$420	\$25	\$105	\$57	\$0
PHYS 260	Statics for Engineers	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45		
POLS 120	American Political System	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60		
POLS 121	State and Local Government	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60		
POLS 201	Intro to Political Science	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45		
POLS 205	Political Science Internship	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45		
POLS 240	Introduction to Public Policy	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45		
POLS 250	Campaigns & Elections	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45		
POLS 260	Comparative Political Systems	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45		
POLS 270	International Relations	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45		
PSYC 175	Psyc of Death: Prep for Living	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45		
PSYC 180	Intro to Positive Psychology	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45		

^{*}Senior Citizen Tuition: MI residents living outside the LCC district qualify for a reduced rate of \$120 per billing hour. ^Refunds based on Teaching Period dates. Tuition and Fees are subject to change by action of the LCC Board of Trustees.



2025 – 2026 Tuition and Course Fee Schedule

					Tuition^					Cours	e Fees
Course Code	Course Title	Bill Hrs.	District Resident (\$120)	In-State (\$240)	Out-of- State (\$360)	Int'l Student (\$420)	Senior Citizen (\$60)*	Registration Fee^ (Per semester, not course)	Student Support^ (Bill hrs x \$15)	Refundable	Non- Refundable
PSYC 200	Introduction to Psychology	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60		
PSYC 202	Psychology of Personality	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45		
PSYC 203	Social Psychology	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45		
PSYC 205	Human Growth and Development	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45		
PSYC 209	Cognitive Psychology	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45		
PSYC 210	Brain and Behavior	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45		
PSYC 221	Child Psychology	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45		
PSYC 222	Adolescent Psychology	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45		
PSYC 240	Psychology of Human Sexuality	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45		
PSYC 250	Abnormal Psychology	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45		
RELG 150	Intro to World Religions	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60		
RELG 210	Comparative Religions	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45		
RELG 211	Asian Religions and Traditions	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60		
RELG 230	Introduction to Christianity	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45		
RELG 232	Introduction to Islam	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45		
SCIN 287	Science Technology Internship	2 to 4	\$240-\$480	\$480-\$960	\$720-\$1,440	\$840-\$1,680	\$120-\$240	\$25	\$30-\$60		
SCIS 297	Independent Study in Science	1 to 4	\$120-\$480	\$240-\$960	\$360-\$1,440	\$420-\$1,680	\$60-\$240	\$25	\$15-\$60		
SIGN 160	Intro to the Deaf Community	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45		
SIGN 161	American Sign Language I	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45		

^{*}Senior Citizen Tuition: MI residents living outside the LCC district qualify for a reduced rate of \$120 per billing hour. ^Refunds based on Teaching Period dates. Tuition and Fees are subject to change by action of the LCC Board of Trustees.



2025 – 2026 Tuition and Course Fee Schedule

					Tuition^					Cours	e Fees
Course Code	Course Title	Bill Hrs.	District Resident (\$120)	In-State (\$240)	Out-of- State (\$360)	Int'l Student (\$420)	Senior Citizen (\$60)*	Registration Fee^ (Per semester, not course)	Student Support^ (Bill hrs x \$15)	Refundable	Non- Refundable
SIGN 162	American Sign Language II	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45		
SIGN 163	American Sign Language III	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45		
SIGN 164	American Sign Language IV	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45		
SIGN 166	Fingerspelling	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45		
SIGN 167	Beginning Sign to Voice	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45		
SIGN 170	Expressive/Receptive ASL	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45		
SIGN 200	Sign Practicum Seminar	2	\$240	\$480	\$720	\$840	\$120	\$25	\$30	\$40	\$0
SIGN 240	Intro to Transliterating	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45	\$80	\$0
SIGN 250	Deaf Culture and History	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45		
SIGN 260	Linguistic Principles of ASL	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45		
SIGN 263	Intermediate Sign to Voice	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45	\$40	\$0
SIGN 266	Post-Secondary Interpreting	2	\$240	\$480	\$720	\$840	\$120	\$25	\$30	\$40	\$0
SIGN 267	Sign Practicum I	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45	\$40	\$0
SIGN 268	Sign Practicum II	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45	\$40	\$0
SIGN 270	Advanced Interpreting	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45	\$40	\$0
SIGN 271	Advanced Sign to Voice	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45	\$40	\$0
SIGN 293	Principles of Interpreting	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45	\$25	\$0
SIGN 296	Specialized Interpreting	2	\$240	\$480	\$720	\$840	\$120	\$25	\$30	\$25	\$0
SOCL 120	Introduction to Sociology	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60		

^{*}Senior Citizen Tuition: MI residents living outside the LCC district qualify for a reduced rate of \$120 per billing hour. ^Refunds based on Teaching Period dates. Tuition and Fees are subject to change by action of the LCC Board of Trustees.



2025 – 2026 Tuition and Course Fee Schedule

					Tuition^					Cours	e Fees
Course Code	Course Title	Bill Hrs.	District Resident (\$120)	In-State (\$240)	Out-of- State (\$360)	Int'l Student (\$420)	Senior Citizen (\$60)*	Registration Fee^ (Per semester, not course)	Student Support^ (Bill hrs x \$15)	Refundable	Non- Refundable
SOCL 254	Marriage and Family	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45		
SOCL 255	Contemporary Social Problems	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45		
SOCL 260	Race and Ethnicity	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45		
SOWK 101	Introduction to Social Work	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45	\$68	\$0
SPAN 106	Spanish for Health Care	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45		
SPAN 121	Elementary Spanish I	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60		
SPAN 122	Elementary Spanish II	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60		
SPAN 201	Intermediate Spanish I	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60		
SPAN 202	Intermediate Spanish II	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60		
STAT 170	Introduction to Statistics	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60		
STAT 215	Intro to Probability and Stats	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60		
STPR 145	Foundations Sterile Processing	6.5	\$780	\$1,560	\$2,340	\$2,730	\$390	\$25	\$98	\$255	\$0
STPR 148	Sterile Processing Externship	2	\$240	\$480	\$720	\$840	\$120	\$25	\$30	\$53	\$0
SURG 100	Fundamentals of Surgical Tech	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45	\$349	\$0
SURG 101	The Surgical Patient	2	\$240	\$480	\$720	\$840	\$120	\$25	\$30	\$349	\$0
SURG 103	Surgical Asepsis	2	\$240	\$480	\$720	\$840	\$120	\$25	\$30	\$344	\$0
SURG 108	Surgical Pharmacology	2	\$240	\$480	\$720	\$840	\$120	\$25	\$30	\$349	\$0
SURG 109	Basic Surgical Procedures	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60	\$349	\$0
SURG 110	Advanced Surgical Procedures	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60	\$349	\$0

^{*}Senior Citizen Tuition: MI residents living outside the LCC district qualify for a reduced rate of \$120 per billing hour. ^Refunds based on Teaching Period dates. Tuition and Fees are subject to change by action of the LCC Board of Trustees.



2025 – 2026 Tuition and Course Fee Schedule

					Tuition^					Cours	e Fees
Course Code	Course Title	Bill Hrs.	District Resident (\$120)	In-State (\$240)	Out-of- State (\$360)	Int'l Student (\$420)	Senior Citizen (\$60)*	Registration Fee^ (Per semester, not course)	Student Support^ (Bill hrs x \$15)	Refundable	Non- Refundable
SURG 111	Surgical Specialty/Prof Prep	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60	\$596	\$0
SURG 121	Applied Surgical Techniques I	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60	\$692	\$285
SURG 122	Applied Surgical Techniques II	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60	\$703	\$0
SURG 123	Applied Surgical Techiq III	8	\$960	\$1,920	\$2,880	\$3,360	\$480	\$25	\$120	\$484	\$0
SURG 124	Applied Surgical Techniques IV	8	\$960	\$1,920	\$2,880	\$3,360	\$480	\$25	\$120	\$484	\$0
TECH 100	Safety-OSHA10	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45	\$83	\$0
TECH 102	General Industry Safety	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45	\$0	\$11
THEA 110	Introduction to Theatre	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45		
THEA 114	Intro to Technical Theatre	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45	\$0	\$35
THEA 115A	Tech Thea II-Set/Light Design	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45		
THEA 115B	Tech Thea II-Prop Design/Const	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45		
THEA 115C	Tech Thea II-Costume Des/Const	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45		
THEA 115D	Tech Thea II-Produc/Stage Mgmt	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45		
THEA 120	Introduction to Acting	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45		
THEA 131	Studio Theatre Performance I	2	\$240	\$480	\$720	\$840	\$120	\$25	\$30	\$20	\$0
THEA 141	Acting I - Contemporary	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60		
THEA 143	Stage Voice for the Actor	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60		
THEA 150	Acting for the Camera	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60	\$50	\$0
THEA 160	Stage Combat	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45		

^{*}Senior Citizen Tuition: MI residents living outside the LCC district qualify for a reduced rate of \$120 per billing hour. ^Refunds based on Teaching Period dates. Tuition and Fees are subject to change by action of the LCC Board of Trustees.



2025 – 2026 Tuition and Course Fee Schedule

					Tuition^]		Cours	e Fees
Course Code	Course Title	Bill Hrs.	District Resident (\$120)	In-State (\$240)	Out-of- State (\$360)	Int'l Student (\$420)	Senior Citizen (\$60)*	Registration Fee^ (Per semester, not course)	Student Support^ (Bill hrs x \$15)	Refundable	Non- Refundable
THEA 171	Play Analysis	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45		
THEA 173	Movement for the Actor	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45		
THEA 181	Improvisation	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60		
THEA 210	Theatre History	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60		
THEA 220	Play Directing	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60		
THEA 225	Building a Character	2	\$240	\$480	\$720	\$840	\$120	\$25	\$30		
THEA 233	Studio Theatre Performance III	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60	\$20	\$0
THEA 240	Acting-Shakespeare	4	\$480	\$960	\$1,440	\$1,680	\$240	\$25	\$60		
THEA 283	Audition Workshop	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45	\$30	\$0
THEA 285	Stage Makeup	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45	\$95	\$0
WELD 103	Combination Welding	6	\$720	\$1,440	\$2,160	\$2,520	\$360	\$25	\$90	\$465	\$0
WELD 105	Advanced ARC Welding	6	\$720	\$1,440	\$2,160	\$2,520	\$360	\$25	\$90	\$468	\$0
WELD 108	Welding for Non-Majors	6	\$720	\$1,440	\$2,160	\$2,520	\$360	\$25	\$90	\$475	\$0
WELD 110	Gas Metal ARC Welding	6	\$720	\$1,440	\$2,160	\$2,520	\$360	\$25	\$90	\$465	\$0
WELD 111	Gas Tungsten ARC Welding	6	\$720	\$1,440	\$2,160	\$2,520	\$360	\$25	\$90	\$468	\$0
WELD 115	Robotic MIG Welding	6	\$720	\$1,440	\$2,160	\$2,520	\$360	\$25	\$90	\$390	\$0
WELD 125	Structural Print Reading/Weld	2	\$240	\$480	\$720	\$840	\$120	\$25	\$30	\$35	\$0
WELD 140	Creative Welding	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45	\$465	\$0
WELD 170	Special Topics in Welding	0.25 to 11	\$30-\$1,320	\$60-2,640	\$90-3,960	\$105-\$4,620	\$15-\$660	\$25	\$3.75-\$165		

^{*}Senior Citizen Tuition: MI residents living outside the LCC district qualify for a reduced rate of \$120 per billing hour. ^Refunds based on Teaching Period dates. Tuition and Fees are subject to change by action of the LCC Board of Trustees.



2025 – 2026 Tuition and Course Fee Schedule

					Tuition^					Cours	e Fees
Course Code	Course Title	Bill Hrs.	District Resident (\$120)	In-State (\$240)	Out-of- State (\$360)	Int'l Student (\$420)	Senior Citizen (\$60)*	Registration Fee^ (Per semester, not course)	Student Support^ (Bill hrs x \$15)	Refundable	Non- Refundable
WELD 191	Welding Project Lab	1 to 4	\$120-\$480	\$240-\$960	\$360-\$1,440	\$420-\$1,680	\$60-\$240	\$25	\$15-\$60		
WELD 201	Tool and Die Welding	4.5	\$540	\$1,080	\$1,620	\$1,890	\$270	\$25	\$68	\$455	\$10
WELD 205	Pipe Welding	6	\$720	\$1,440	\$2,160	\$2,520	\$360	\$25	\$90	\$465	\$0
WELD 220	Structural Fab & Inspection	6	\$720	\$1,440	\$2,160	\$2,520	\$360	\$25	\$90	\$465	\$0
WELD 250	Welding Internship	3	\$360	\$720	\$1,080	\$1,260	\$180	\$25	\$45		

^{*}Senior Citizen Tuition: MI residents living outside the LCC district qualify for a reduced rate of \$120 per billing hour. ^Refunds based on Teaching Period dates. Tuition and Fees are subject to change by action of the LCC Board of Trustees.